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WEXT | T7AV4 ERREE|]  PRAFHIR]  |BRAEIRTE T B [wreomes RIS AR B | meemmo s n | ko)
Al3]2|0] 3 |FREBHRE H30 3 4E| R3.12.31 | BEHE |RIBREHF v %M H30.1.1 | H31.1.1. K
Al3]2|0] 3 |FREBHRE RO3 3 4| R6.12.31 | BE#EE |BIBFEHAFvE v R3.1.1 R4.1.1. K
Al3]2]0]3 i%a/léafff RO4 3 | RT.12.31 | BEFE |RIBKEMFrvE xRy R4.1.1 R5.1.1 K
Al3]2|0] 3 |FREBHRE R05 3 4E| RS8.12.31 | BE#E |BIBFEMAFvE XM R5.1.1 R6.1.1 K
Al 2[00 1| A= Edhm e ER HO1 30 4£| R3.12.31 | FEIE [BIFEMASYE Ry S64.1.1 | H2.1.1 e
Al2]0]0]| 1| AHSEhmmEH HO02 30 4| R4.12.31 | BEFE [RIBKEMFrExob H2.1.1 H3.1.1 K
Al2(0]0]| 1| A\SFEB @M ER H03 30 4| R5.12.31 | FEFE [RIBKEMFvyE x>y H3.1.1 | H4.1.1 s
Al2(0]0] 1| \SFEB®MER 109 30 4| R9.12.31 | BEFE |RIBXEMFvyE x> HI.1.1 | HI10.1.1 s
Al2]0]0]| 1| AHSEhmmaEH H13 30 4| R13.12.31 | BEFE |RIBKEMFvyE x> HI13.1.1 | HI4.1.1 K
Al2]0]0]| 1| AHSEhmeEH H14 30 4| R14.12.31 | BEFE |RIBKEMFvE x> H14.1.1 | H15.1.1 K
Al2]0]0]| 1| AHSEhmaEH H15 30 4| R15.12.31 | BEFE |RIBKEMFvyE x> H15.1.1 | HI16.1.1 K
Al2(0]0] 1| A\ EEhEmERH H16 30 4| R16.12.31 | BEFE |EIBKEMFvE x> H16.1.1 | H17.1.1 i
Al2(0]0] 1| A\FEEhEmERH H17 30 47| R17.12.31 | BEFE |RIBREMFvE x> H17.1.1 | HI8.1.1 i
Al2(0]0] 1| A\FEEhEmERH HI18 30 4| R18.12.31 | BEFE |RIBxEMFvE x> H18.1.1 | H19.1.1 i
Al2(0]0] 1| A\FEEhEmERH H19 30 47| R19.12.31 | BEFE |RIBREMFvE x> H19.1.1 | H20.1.1 i
Al2(0]0] 1| A\FEEhEmERH H20 30 4| R20.12.31 | BEFE |EIBEMFvE x> H20.1.1 | H21.1.1 i
Al2(0]0] 1| A\FEEhEmERH H21 30 47| R21.12.31 | BEFE |RIBREMFvyE x> H21.1.1 | H22.1.1 i
Al2]|0|0 1 | NSFEEhumaE H22 30 4| R22.12.31 | BE3E |RIBXE HSrE xR H22.1.1 | H23.1.1 K
Al2]|0|01 | NS E H23 30 4| R23.12.31 | BE3E [RIBXE HSrE v H23.1.1 | H24.1.1 K
Al2(0]0[ 1 | A\ RFEhEmER H24 30 4| R24.12.31 | BE#E |RIREHFvE 3ry M H24.1.1 | H25.1.1 K
Al2]0|01 | NSFEEEhummanER H25 30 4| R25.12.31 | BE3E |RIBXE v E b H25.1.1 | H26.1.1 K
Al2]|0|0 1 | A\ Es H26 30 4| R26.12.31 | BE3E |RIBXE B xR H26.1.1 | H27.1.1 K
Al2]|0[0 1 | N\FEEhumamER H27 30 | R27.12.31 | BE3E |RIBXE HSrE xR H27.1.1 | H28.1.1 K




Al 2100 1| AT ELEhE N EH H28 30 4| R28.12.31 | BEZE |FIBXE Sy 2R H28.1.1 | H29.1.1 K
Al 2[00 1| A= shm e H29 30 4| R29.12.31 | BE#HE |RIFEHAFvE Ry H29.1.1 | H30.1.1 K
Al2]0]0] 1| ASEhmmEH H30 30 4| R30.12.31 | BEFE |EIBEMFvE x> H30.1.1 | H3I1.1.1 K
Al 2[00 1| A= EdhmaE RO1 30 4| R31.12.31 | BEFE |RIBXEHFye x| H31L.1.1 | R2.1.1 e
Al 2[00 1| A= Edhm e ER R02 30 4| R32.12.31 | BEZE |RIKEMFrE2xvM R2.1.1 R3.1.1 e
Al 2100 1| ANSELEhE N EH RO3 30 4| R33.12.31 | BEFE |RIKEAFyE 2y R3.1.1 R4.1.1 K
Al 2[00 1| A= EdhmaE R04 30 4| R34.12.31 | BEZE |RIKEMFrYE2xv R4.1.1 R5.1.1 e
Al 2[00 1| A= Edhm e ER R05 30 4| R35.12.31 | BEZE |RIKEMFrE 2y R5.1.1 R6.1.1 e
Al2]5]0]| 1 |#EEBREGRE RO3 3 | R6.12.31 | BEIE A R3.1.1 R4.1.1 Fiin
Al3|2]0]|2|MEEXEI—K RO5 | Mk EBHkE 4 FEFE [RIKEHFryE Rk Fiin
Al0[4]0]|2|=ERE%RE R04 1 | R5.12.31 | BEFE [RIKEHFYEXRYMN R5.1.1 R6.1.1 HE
Al0|4|0]|2|=mBafRrm R05 1 4| R6.12.31 | BEFE [RIKEHFYE XYM R6.1.1 R7.1.1 K
Al5|0| 1|1 |rpHdE RO3 3 A R6.12.31 | BEFE | BUBE=EFrExrvbh | R3.LI R4.1.1 Fiin
Als|o| 1] 1|/ R04 3 A RT.1231 | BEFE | BUBB=EFrErvh | R4 R5.1.1 Fiin
Als|o| 1] 1|/ RO5 3 4| R8.12.31 | BEFE | BUB=EFrErvbh | R5.1.1 R6.1.1 iin
Al5]2]0] 2 |FERU R H27 30 4E| R27.12.31 | BEEE AL A e H27.1.1 | H28.1.1 Fiin
Al5]2]0] 2 |FERU R AT H28 30 4E| R28.12.31 | BEZE AL A e H28.1.1 | H29.1.1 iin
Al5]2]0] 2 |FERUERAT H29 30 4E| R29.12.31 | BEZE AL A e H29.1.1 | H30.1.1 Fiin
Al5]2]0] 2 |FERU R H30 30 4E| R30.12.31 | BEZE AL A e H30.1.1 | H31.1.1 Fiin
Al5]2]0] 2 |FEIUWHIRATE RO1 30 4£| R31.12.31 | FE#E AIEHL YL A T H31.1.1 | R2.1.1 e
Al5]2]0] 2 |FEHIRATE R02 30 4£| R32.12.31 | FE3#E AFHL L A T R2.1.1 R3.1.1 Fiin
Al5|2|0]| 2 |FEU R RO3 30 4£| R33.12.31 | BE3E AIFHL L A T R3.1.1 R4.1.1 Fiin
Al5]2]0] 2 |FEHIRATE RO4 30 4£| R34.12.31 | FE#E AFHL L A T R3.1.2 R5.1.1 Fiin
Al5|2|0]| 2 |FEU R R05 30 4£| R14.12.31 | FE3#E AIFHL L A T R3.1.3 R6.1.1 Fiin
Al5(2]0] 3 |GEAUIHEHEE H22 30 4£| R22.12.31 | FE#E AIEHL L A T H22.1.1 | H23.1.1 FiiN
Al5(2]0] 3 |GEAWIHE HEE H25 30 4£| R25.12.31 | BEZE AIEHL L A T H25.1.1 | H26.1.1 FiiN




Al5|2]0] 3 |FEAW & FE H26 30 4£| R26.12.31 | BE3E AIERL L A H26.1.1 | H27.1.1 K
Al5|2]0] 3 |FEAW & FE RO1 30 4E| R27.12.31 | B3 AIERL L A H26.1.2 | H28.1.1 K
A5 2|03 |RERIE B R02 30 4£| R28.12.31 | B3 AEHL LA H26.1.3 | H29.1.1 e
A5 2|03 |RERIE B RO3 30 4£| R29.12.31 | B3 AEHL L A H26.1.4 | H30.1.1 e
A5 2|03 |RERIE B RO4 30 4£| R30.12.31 | B3 AFHL L A H26.1.5 | H31.1.1 e
A5 2|03 |RERIE B RO5 30 4£| R31.12.31 | B3 AEHL LA H26.1.6 | R2.1.1 e
A5 20| 4 |GER S SRR H22 30 4£| R22.12.31 | B3 AIEHL Y, A H22.1.1. | H23.1.1 e
A5 20| 4 |GER S SRR H23 30 4£| R23.12.31 | B3 AIEHL Y, A H23.1.1. | H24.1.1 e
A5 20| 4 |FERIFSE AR H24 30 4£| R24.12.31 | B3 AIEHL L A e H24.1.1 | H25.1.1 K
Al5]2]0] 4 |FERU S Sk TE H25 30 4E| R25.12.31 | BEIE AIEHL L A e H25.1.1 | H26.1.1 Fiin
Al5]2]0] 4 |FERU S Sk TE H26 30 4E| R26.12.31 | BEIE AIEHL L A e H26.1.1 | H27.1.1 Fiin
A5 20| 4 |FERIFSE AR H27 30 4£| R27.12.31 | B3 AIEHL L A e H27.1.1 | H28.1.1 K
Al5]2]0] 4 |FERU S Sk TE H28 30 4E| R28.12.31 | BEIE AIEHL L A e H28.1.1 | H29.1.1 Fiin
Al5]2]0] 4 |FERU S Sk TE H29 30 4E| R29.12.31 | BE3E AIEHL L A e H29.1.1 | H30.1.1 Fiin
A5 2|04 |FEIL S SR TE H30 30 4£| R30.12.31 | pE3E AL A e H30.1.1 | H31.1.1 i
A5 2|04 |FER IS SR RO1 30 4£| R31.12.31 | FE#E AIEHL YL A T H31.1.1 | R2.1.1 e
A5 2|04 |FER IS SR R02 30 4£| R32.12.31 | FE#E AFHL S A R2.1.1 R3.1.1 e
Al5]2]0] 4 |FERUWIESE SR TE RO3 30 4| R33.12.31 | BEIE AL A e R3.1.1 R4.1.1 Fiin
A5 2|04 |FER IS SR RO4 30 4£| R34.12.31 | B3 AFHL S A R4.1.1 R5.1.1 e
Al5]2]0] 4 |GERUWIEE SR TE RO5 30 4| R35.12.31 | BEIE AL A e R5.1.1 R4.1.1 Fiin
Al5(2]|0] 5 |GEAWIE N E H22 30 4£| R22.12.31 | FE3#E AFHL L A T H22.1.1 | H25.1.1 Fiin
Al5(2]|0] 5 |GEAWIE N E H23 30 4F| R23.12.31 | PR3 AIFHL L A T H23.1.1. | H24.1.1 Fiin
Al5(2]|0] 5 |GEAWIE N E H24 30 4£| R24.12.31 | FE#E AFHL L A T H24.1.1 | H25.1.1 Fiin
Al5|2]|0] 5 |GEAWIE N E H25 30 4F| R25.12.31 | PR3 AIFHL L A T H25.1.1 | H26.1.1 Fiin
Al 5|2 0] 5 |GERWIE N E H26 30 4£| R26.12.31 | BEZE AIEHL L A T H26.1.1 | H27.1.1 FiiN
Al5(2]|0] 5 |GERWIE N E H27 30 4E| R27.12.31 | BE3E AIEHL L A T H27.1.1 | H28.1.1 FiiN




Al5|2]0] 5 |FERWIE A H28 30 4£| R28.12.31 | B3 AEHL L A H28.1.1 | H29.1.1 K
Al5|2]0] 5 |GERWIE A H29 30 4£| R29.12.31 | B3 AEHL L A H29.1.1 | H30.1.1 K
Al5|2]0] 5 |FERW I A H30 30 4£| R30.12.31 | B3 AEHL LA H30.1.1 | H31.1.1 e
Al5|2]0] 5 |FERW I RO1 30 4£| R31.12.31 | B3 AEHL L A H31.1.1 | R2.1.1 e
Al5|2]0] 5 |FERUWIE A R02 30 4£| R32.12.31 | B3 AFHL L A R2.1.1 R3.1.1 e
Al5|2]0] 5 |FERW I A RO3 30 4£| R33.12.31 | B3 AEHL LA R3.1.1 R4.1.1 e
Al5|2]0] 5 |FERW I RO4 30 4£| R34.12.31 | B3 AEHL L A R4.1.1 R5.1.1 e
Al5|2]0] 5 |FERUWIE A RO5 30 4| R35.12.31 | BE3E RN R5.1.1 R6.1.1 e
Al5|2]0]|8|EEFM|FRAERSER RO3 3 | R6.12.31 | BEIE A R3.1.1 R4.1.1 s
Al5|2]0]|8|EEFM|RAERER R04 3 | R7.12.31 | BEIE A R4.1.1 R5.1.1 Fiin
Al5|2]0]|8|EEFM|FRAEREE RO5 3 4| R8.12.31 | BEIEE A R8.1.1 R9.1.1 s
Al 5|5 1] 1 [Exzommpsmrosasmspesss| H30 [wewmerz| 5 45| R5.12.31 P ZEEEHN H30.1.1 H31.1.1 #E
Al 5|5 1] 1 [Exxommpsmrosasmsresss| RO1 [wewmerz| 5 4| R6.12.31 P ZEEEHN H31.1.1 R2.1.1 #E
Al 5|5 1] 1 [Exxommpsmrosasmsresss| RO2 [wewmerz| 5 42| R7.12.31 P ZEEEHN R2.1.1 R3.1.1 #E
Al 5|5 1] 1 [Exzommpmmrosassregsss| RO3 [wewmerz| 5 42| RS8.12.31 P 2 H R3.1.1 R4.1.1 H
Al 5|5 1] 1 [Exzommpmmrosassregsmns| RO4 [wewmerz| 5 45| R9.12.31 P 2 A R4.1.1 R5.1.1 H
Al 5| 5| 1|1 |meeommpskrosapmspedng RO5 |wemmere| 5 45 R10.12.31 | BE3E 2R R5.1.1 R6.1.1 H
A5 |5 1|2 |Exzxvmmpmrosatdmrg] RO |wwwmerzl 5 4| R6.12.31 | BEIE E A H31.1.1 R2.1.1 i
A5 5] 1|2 |[wezvumupskroradmgs| RO2 |wemmerel 5 4| R7.12.31 | FEH E A R2.1.1 R3.1.1 i
A5 5] 1|2 |[#ezvumupkroratdmgs| RO3 |wemmerel 5 42| R8.12.31 | FEHE E A R3.1.1 R4.1.1 i
Al 5|5 1|2 |Exxvmmpihk EAARRE| RO4 |memmerz| 5 4| R9.12.31 | BgdE AN R4.1.1 R5.1.1 %
Al 5|5 1|2 |Exxvmmphk oEAARRE| RO5 |memmerz| 5 4| R10.12.31 | gt AN R5.1.1 R6.1.1 %
Al5|5]| 1|3 |EHEEVREEEEIARIHE | H30 |wemmerel 5 4 R5.12.31 | FEHE 3 i H30.1.1 | H31.1.1 Fiin
A|5|5| 1|3 | BEEVARBRMEMAFIAE | RO1 |wemmere| 5 45 R6.12.31 | BEHE 3 i H31.1.1 | R2.1.1 Fiin
A|5|5| 1|3 | BEEVARBREEMAFIHE | RO2 |wwmmere| 5 4| R7.12.31 | BEHE E 3 i R2.1.1 R3.1.1 FiiN
Al5[5] 1|3 | EXXVRBEILRHME | RO3 |wrmmerel 5 A R8.12.31 | PE3HE E 3 i R3.1.1 | R4.1.1. FiiN




Al5|5] 1|3 |EEXVARBRMBIAR A | RO4 |wewmere| 5 4 R9.12.31 | BE3E AN R4.1.1 R5.1.1 K
Al5|5] 1|3 |EEXVARBRMBIAR A | RO5 |wemmerz| 5 4 R10.12.31 | BE3E AN R5.1.1 R6.1.1 HE
Al5|5]| 1] 4|FEmEi7 7\t H30 |memmers| 5 4F| R5.12.31 | BEZE 2 A H30.1.1 | H31.1.1 i
Al5|5]| 1] 4|FEmEi#7 7506k RO1 [wwmmire| 5 42| R6.12.31 | BEZE 2 A H31.1.1 | R2.1.1 i
Al5| 5] 1] 4|FEmEi7 7/ itk RO2 |[wwmmire| 5 42| R7.12.31 | BEZE 2 A R2.1.1 R3.1.1 i
Al5|5]| 1] 4|FEmEi7 7\t RO3 [wwmmiri| 5 45| R8.12.31 | BEZE 2 A R3.1.1 | R4.1.1. i
Al5|5]| 1] 4|FEmEi7 7/t RO4 |[wwmmire| 5 42| R9.12.31 | BEZE 2 A R4.1.1 R5.1.1 i
Al5| 5] 1] 4|FEmEi7 7/ itk RO5 |[wwmmiere| 5 42 R10.12.31 | BEZE 2 A R5.1.1 R6.1.1 i
A5 5] 1] 5 |JRAEEAR T P FI] H RO1 5 4| R6.12.31 | pE¥E A H31.1.1 | R2.1.1 i
A5 5] 1] 5 |JRAEAR T P FI] H R0O2 5 4| R7.12.31 | pEZE A R2.1.1 R3.1.1 HE
A5 5] 1] 5 |JRAEEAR T PRI RO3 5 4| R8.12.31 | BEIE A R3.1.1 R4.1.1 Fiin
A5 5] 1] 5 |JRAEEAR T P FI] H R04 5 4| R9.12.31 | pE¥E A R4.1.1 R5.1.1 HE
A5 5] 1] 5 |JRAEAR T P FI] H RO5 5 4| R10.12.31 | BEZE A R5.1.1 R6.1.1 Fiin
A5 5] 1] 6 |JRABARST & H RO1 5 4| R6.12.31 | BEIE A H31.1.1 | R2.1.1 Fiin
A5 5] 1] 6 |RABARST Ao 8 R02 5 4| R7.12.31 | BEEE A R2.1.1 R3.1.1 iin
A5 5] 1] 6 |RABARST Ao 8 RO3 5 4| R8.12.31 | BEEE A R3.1.1 R4.1.1 Fiin
A5 5] 1] 6 |FRABEARST &S 8 RO4 5 4| R9.12.31 | BEIE A R4.1.1 R5.1.1 iin
A5 5] 1] 6 |FRABEARST &S 8 RO5 5 4| R10.12.31 | BEZE A R5.1.1 R6.1.1 Fiin
A5 |5 | 1|7 |FIE/ERE B RO1 5 4| R6.12.31 | FE#E A H31.1.1 | R2.1.1 i
A5 |5 | 1|7 |FIE/ERE B R02 5 4E| R7.12.31 | BE#E A R2.1.1 R3.1.1 i
Al5|5] 1|7 |FIE{EREHE RO3 5 4| R8.12.31 | BEEE 3 i R3.1.1 R4.1.1 Hiin
Al5|5] 1|7 |FIE{EREHE R04 5 4| R9.12.31 | BEZE 3 i R4.1.1 R5.1.1 iin
Al5|5] 1|7 |FIE{EREHE RO5 5 4| R10.12.31 | BEZE 3 i R5.1.1 R6.1.1 Hiin
Al5]5] 3|1 [msmremnrgnsn amsEs | RO2 3 4| R7.12.31 | BEIE E A R2.1.1 R3.1.1 &
Al5]5] 3|1 [nsmremnrgns mmss | RO3 3 4| RS.12.31 | FEIE E A R3.1.1 R4.1.1 &
Al5]5] 3|1 [mosnemnisassnmmsEss | RO4 3 4| R9.12.31 | BEIFE E A R4.1.1 R5.1.1 &




Al 5|5 3|1 |[momts g e mmEs | ROb 3 4| RI10.12.31 | BEIFE AN R5.1.1 R6.1.1 IS
Al 5| 5] 4] 1 |BUBRESOEN (E12) # () # | H28 10 4| RS8.12.31 | pExE A H28.1.1 | H29.1.1 #E
Al 6] 1] 1] 0|5 %ndbE ) #% RO1 5 4| R6.12.31 | FEE =] H31.1.1 | R2.1.1 Fiin
Al 6] 1] 1] 0|5k f% R0O2 5 4| R7.12.31 | FEE =] R2.1.1 R3.1.1 Fiin
Al 6] 1] 1] 0|53 f% RO3 5 4| R8.12.31 | FE¥E =] R3.1.1 R4.1.1 Fiin
Al 6] 1] 1] 0|5 %ndbE ) #% R04 5 4| R9.12.31 | FEZE =] R4.1.1 R5.1.1 Fiin
Al 6] 1] 1] 0|53 #% RO5 5 4| R10.12.31 | FE%E =] R5.1.1 R6.1.1 Fiin
A6 1| 1|1 |JREEEAT 4 R RO1 5 4E| R6.12.31 | B3I RN H31.1.1 | R2.1.1 e
A6 1| 1|1 [JREEEA 4 R R02 5 4| R7.12.31 | BEHE A R2.1.1 R3.1.1 e
A6 1] 1] 1 |REREMA4 R RO3 5 4| R8.12.31 | BEIE A R3.1.1 R4.1.1 s
A6 1| 1|1 [JREEEA 4 R RO4 5 4| R9.12.31 | BE#E A R4.1.1 R5.1.1 e
A6 1] 1] 1 |REEREA 4 R RO5 5 4| R10.12.31 | BEZE A R5.1.1 R6.1.1 Fiin
A6 1|16 |HEZEGREDIR) & RO1 5 4| R6.12.31 | BE#E A H31.1.1 | R2.1.1 e
A6 1| 1|6 |HEZEGREDIR) & R02 5 4| R7.12.31 | BEHE A R2.1.1 R3.1.1 e
Al6]1]1]6 |HEZERELIR) RO3 5 4| R8.12.31 | pE¥E 3 R3.1.1 R4.1.1 i
Al 6| 1] 1|6 |HE2ERELIFT) % RO4 5 4E| R9.12.31 | FEEE A R4.1.1 R5.1.1 HE
Al 6] 1|16 |52 & RO5 5 4| R10.12.31 | BEZE A R5.1.1 R6.1.1 e
Al 6| 2] 0] 1 [pommeissimsconmm s —w| 122 30 4| R22.12.31 | BEZE 2 A H22.1.1. | H23.1.1 1S
Al 6| 2] 0|1 |emissms s cemor gee—i | H23 30 4| R23.12.31 | BE3E E A H23.1.1. | H24.1.1 #E
Al 6|20 1 |romissmm s camom see—i | H24 30 4| R24.12.31 | BE3E E A H24.1.1 | H25.1.1 AN
Al6| 2|01 [mmsessnmconmm s x| H25 30 4| R25.12.31 | BEZEE EHEHN H25.1.1 | H26.1.1 %
Al6| 20| 1 [mmsessmmconmm s x| H26 30 £ R26.12.31 | pEzEE EHEHN H26.1.1 | H27.1.1 %
Al 6| 20| 1 [mwsessnconmm s x| H27 30 £ R27.12.31 | BEEE EHEHN H27.1.1 | H28.1.1 %
Al 6] 2|01 |remmsessreemcammm s | H28 30 4-| R28.12.31 | BE3E EHEHN H28.1.1 | H29.1.1 %
Al 6|20/ 1 |emissms e amorm gee-—i | H29 30 4F| R29.12.31 | BE3E E A H29.1.1 | H30.1.1 AN
Al 6|20/ 1 |emissms e amorm gee—i | H30 30 4F| R30.12.31 | BE3E E A H30.1.1 | H31.1.1 AN




Al 6| 2] 0|1 |romssamsemcamm s — | ROL 30 45| R31.12.31 | BE3E AN H31.1.1 R2.1.1 IS
Al 6| 2] 0] 1 |rommais s conmm s —w | RO2 30 4| R32.12.31 | BEZE T R2.1.1 R3.1.1 #E
Al 6| 2] 0|1 |omsses s cemmnm s —iz | RO3 30 4| R33.12.31 | BE3E E A R3.1.1 R4.1.1 A%
Al 6| 2] 0|1 |romssms s camm sse—i | R4 30 4| R34.12.31 | BE3E E A R4.1.1 R5.1.1 A%
Al 6| 2] 0|1 |omsses s cemonm gs-—i | RO5 30 4£| R35.12.31 | BE3E E A R5.1.1 R6.1.1 A%
A6 2] 0|2 |#mamsstsmsiasc ik caumm | H30 30 45| R30.12.31 | BE3E E A H30.1.1 | H31.1.1 A&
A 6] 2|02 |&rmmest mmsmerskm e [ ROL 30 45| R31.12.31 | BE3E E A H31.1.1 R2.1.1 A%
A6 2] 0|2 |#mamestssmsis ke Gaumm | RO2 30 45| R32.12.31 | BE3E E A R2.1.1 R3.1.1 A&
Al 6|20 2 [smmes smsaasrmseuom [ RO3 30 4| R33.12.31 | BE3E EJH A R3.1.1 R4.1.1 A&
Al 6| 2] 0] 2 |smass woesasmsomem | RO4 30 4| R34.12.31 | BEZE =] R4.1.1 R5.1.1 e
Al 6|20 2 [smmes smsaasrmseuom [ RO5 30 4| R35.12.31 | BE3E EJH A R5.1.1 R6.1.1 A&
Al6|2]0]6|ERAERRRLEE RO1 5 4| R6.12.31 | BEIE A H31.1.1 | R2.1.1 s
Al6|2]0]6|BRAERRRLEE RO2 5 4| R7.12.31 | BEIE A R2.1.1 R3.1.1 Fiin
Al6]2]0] 6 |BRA R Lok RO3 5 4| R8.12.31 | BEIE A R3.1.1 R4.1.1 Fiin
Al6]2]0] 6 |BRAEERE Lok RO4 5 4| R9.12.31 | pEZE A R4.1.1 R5.1.1 i
Al6]2]0] 6 |BRAEEGRE Lok R0O5 5 4| R10.12.31 | pE%E A R5.1.1 R6.1.1 i
Al 6| 2|07 |Eoms S RO1 5 4| R6.12.31 | pEZE A H31.1.1 | R2.1.1 i
Al 6| 2|07 |EomE S R02 5 4| R7.12.31 | pEEE A R2.1.1 R3.1.1 i
Al6|2]0|7 |iFEkomt i RO3 5 4| R8.12.31 | BEEE A R3.1.1 R4.1.1 Fiin
Al 6| 2|07 |EomEs S RO4 5 4| R9.12.31 | pEZE A R4.1.1 R5.1.1 i
A6 2|07 |Eomt E R05 5 4| R10.12.31 | pE%E EEAN R5.1.1 R6.1.1 Fiin
Al 6] 2| 1|0 |puamsprmm s g s | H22 30 | R22.12.31 | BEFE | BUSEXvE rvb | H22.1.1. | H23.1.1 Fiin
Al 6| 2] 1|0 |pusesrksem. femm-amg g | H23 30 A5 R23.12.31 | BEFE | USRSy xvbh | H23.1.1. | H24.1.1 iy
Al 6] 2| 1|0 s - nmm e | H24 30 | R24.12.31 | BEFE | BUSEXvE rvh | H24.1.1 | H25.1.1 e
Al6|2] 1|0 pemsezem s wmm Ewmn | H25 30 | R25.12.31 | BESHE | =X v rob | H25.1.1 | H26.1.1 K
Al 6| 2] 1] 0 |z mm nemecErgmg | H26 30 4| R26.12.31 | BE3E | BUE=EFvyERrvh | H26.1.1 | H27.1.1 e




Al 6| 2| 1|0 |umrmem e nmmcrsw | H27 30 fF| R27.12.31 | BEFE | B EFvE rvb | H27.1.1 | H28.1.1 A
Al 6| 2| 1|0 |umrmem e nmmcrw | H28 30 fF| R28.12.31 | BEFE | ¥UFEFvE rvb | H28.1.1 | H29.1.1 A
Al 6| 2| 1|0 |uomsmem e nmmcrm | H29 30 4| R29.12.31 | BEZE | BUS=EFrExryh | H29.1.1 | H30.1.1 K
Al 6| 2| 1|0 |msmem s nmmcrsw | H30 30 4| R30.12.31 | BEZE | BUS=EFvrErvh | H30.1.1 | H31.1.1 K
Al6| 2| 1|0 |umspem s nmmcrm | ROL 30 4| R31.12.31 | BEZE | BUS=EFvrE xRy | H31.1.1 | R2.1.1 K
Al 6| 2| 1|0 |uommmrem e nmmcrm | RO2 30 4| R32.12.31 | BEFE | BUB=EFvyExrvh [ R2.1.1 R3.1.1 K
Al 6| 2| 1|0 |umsmem e nmmcrm | RO3 30 4| R33.12.31 | BEFE | BUB=EFvyExrvh [ R3.1.1 R4.1.1 K
Al6| 2| 1|0 |msmem s nmmEmm | RO4 30 | R34.12.31 | BEFE | U =EFYERvh [ R41LL R5.1.1 K
Al6| 2] 1] o0 |z s nmm s | RO5 30 4| R35.12.31 | BEFE | BUB=EFrErvbh | R5.1.1 R6.1.1 K
Al6|2]| 2|8 | NEFHHRE RO1 5 4E| R6.12.31 | B A H31.1.1 | R2.1.1 e
Al6|2]2]| 8| NEFHEHRE R0O2 5 4| R7.12.31 | FEE A R2.1.1 R3.1.1 i
Al6|2]2]| 8| NEFHEHRE RO3 5 4| R8.12.31 | BEIE A R3.1.1 R4.1.1 s
Al6|2]2]| 8| NEFHEHRE R04 5 4| R9.12.31 | FE%E A R4.1.1 R5.1.1 i
Al6|2]2]| 8| NEFHEHRE RO5 5 4| R10.12.31 | BEZE A R5.1.1 R6.1.1 Fiin
Al6]3]0] 2 |EEEATET @R RO3 3 4| R6.12.31 | pEFE 3 R3.1.1 R4.1.1 i
Al6]3]0] 2 |EEATET @R RO4 3 4| R7.12.31 | pEEE A R4.1.1 R5.1.1 i
Al6]3]0] 2 |BEEATET WM R05 3 4| R8.12.31 | pEEE A R5.1.1 R6.1.1 i
Ale6|4]o]|1|Fvrrstae—rr—r—mmpmmez| RO1 5 4| R6.12.31 | FEZE 2 H31.1.1 | R2.1.1 e
Al6l4]o]1|Foersre—rr—s—mmags| RO2 5 4| R7.12.31 | FEZE 2 R2.1.1 R3.1.1 i
Ale6l4]o]|1|Fvrrstae—rr—s—pmpmsmez| RO3 5 4| R8.12.31 | FE%E 2 R3.1.1 R4.1.1 e
Ale6l4]o]|1|Fversre—rr—r—mpmas| R4 5 4| R9.12.31 | FE¥E 2 R4.1.1 R5.1.1 e
Alel4]o]|1|Forrstre—rr—r—pmmmmz| RO5 5 4| R10.12.31 | BEZE 2 R5.1.1 R6.1.1 i
A[6|5]0] 1 |5k = Geib 1L BILRFR | RO3 3 4| R6.12.31 | BEEE 3 i R3.1.1 R4.1.1 e
A[6|5]0] 1 |5k =Gl L BMRER | RO4 3 4| R7.12.31 | BEE 3 i R4.1.1 R5.1.1 e
A[6|5]0] 1 |5k =5GP 1L BILRFR | RO5 3 4| R8.12.31 | FEIEE E 3 i R5.1.1 R6.1.1 e
Al 65|02 |FkeBh bt min & RO3 3 | R6.12.31 | BEIEE E 3 i R3.1.1 R4.1.1 e




Al 6]5]0] 2|3 lsb LB mik RO4 3 4| R7.12.31 R4.1.1 #E
A|6[5]0| 2 |FHBs - s R05 3 4| R8.12.31 R5.1.1 K
Als|ofof1 FHRR QLB RO3 3 4| R6.12.31 R3.1.1 Fiin
INEIRAK 1%4@&@(9 AL i RO4 3 4| R7.12.31 R4.1.1 K
A[8]0]0]| 1|24 HRLIE RO5 3 4F| R8.12.31 R5.1.1 e
A8 1] 1|4 | B EREM I s R R04 1 4| R5.12.31 R4.1.1 K
A8 1] 1|4 | B EREME T s R05 1 4| R6.12.31 R5.1.1 K
ql 2|0 1]6|RiEFH TR H26 | R6.12.31 H26.1.1 Fiin
q|2]|0]| 1] 6|28 F b P B i H27 | R7.12.31 H27.1.1 Fiin
ql2]|0]| 1] 6|28 d b F B H28 | R8.12.31 H28.1.1 Fiin
T{1[4]0]2|5@mBHPRN SR AR RO1 | R6.12.31 H31.1.1 K
T 1[4]0] 2|2 EmBHPRN SR AR R02 ([ R7.12.31 R2.1.1 K
T 1[4]0]2|2@mBHPRN SR AR RO3 | R8.12.31 R3.1.1 K
T{1[4]0]2|5@mBHPRN SR AR RO4 ([ R9.12.31 R4.1.1 K
T{1]4]0]2|5@mBLHPRN SR AR RO5 £ R10.12.31 R5.1.1 i
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SR 53 T AN (7l T I e FARA { RPRE T gl Bl v
Alofo]o] 1 [iEmH% HO04 30 4 | R13.12.31 | BEEE |mmsviesob H14.01.01 | %%
Alofo]o]| 1 [iEaH% HO5 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Alofo]o] 1 [iEmH% HO8 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Alolofo] 1 [iEak H09 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Alolofo]1[iEak H10 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Alolofo] 1 [iEak H12 30 4 | R13.12.31 | BEIE |momsreob H14.01.01 [ &%
Alolofo]1[iEak H13 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Alolofo]1[iEak H14 30 4 | R14.12.31 | BEIE |pomsresob H15.01.01 [ &%
Alolofo] 1 [iEak H15 30 4 | R15.12.31 | BEHE |pomsresob H16.01.01 [ &%
Alofo]o]| 1 [iEaH H16 30 4 | R16.12.31 | BEHE |poisreob H17.01.01 [ &%
Alofo]o]| 1 [iEaH H17 30 4 | R17.12.31 | BEHE |pomsresob H18.01.01 [ &
Alofo]o]| 1 [iEaH HI18 30 4 | R18.12.31 | BEHE |moisresob H19.01.01 [ &%
Alofo]o]| 1 [iEaH H19 30 4 | R19.12.31 | BE3HE |pomsresob H20.01.01 [ &%
Alofo]o]| 1 [iEaH H21 30 4 | R21.12.31 | BEHE |momsresob H22.01.01 [ &%
AlOojo|of 1 [EakE H22 30 4E | R22.12.31 | JEHE |~ xok H23.01.01 | #%&
Alofofof1|Es H23 30 4F | R23.12.31 | FEH#E |t H24.01.01 | %%
AlOojo|of 1 [EakE H24 30 4F | R24.12.31 | BEZE |smsveaor| H24.01.01 | H25.01.01 | #&%
Alolofo]1[iEa#E H25 30 4£ | R25.12.31 | FEZE |smevrxor| H25.01.01 | H26.01.01 |  #%
Alo|ofo]2|maEsrEf HO1 30 4F | R13.12.31 | BEEE |t iob H14.01.01 |  #&%
Alo]o]o]|2|mEEscER HO3 30 4F | R13.12.31 | BEHE |sfrvresob H14.01.01 | #&
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Aloofo]2|maEsrER HO04 30 4 | R13.12.31 | BEEE |mmsviesob H14.01.01 | %%
Aloofo]2|mEEsrER HO5 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Alo|ofo]2|meEsrER HO8 30 4 | R13.12.31 | BEEE |mmsviesob H14.01.01 | %%
Alo|ofo]2|mEEscER H09 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Alo|ofo]2|meEsrER H10 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Aloofo]2|meEsrERE H11 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Alo|ofo]2|meEsrER H12 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Alo|ofo]2|meEsrER H13 30 4 | R13.12.31 | BEIE |momsreob H14.01.01 [ &%
Alo|ofo]2|meEscER H14 30 4 | R14.12.31 | BEIE |pomsresob H15.01.01 [ &%
Alo|ofo]2|meEsrER H15 30 4 | R15.12.31 | BEHE |momsresob H16.01.01 [ &%
Alo|ofo]2|meEscER H16 30 4 | R16.12.31 | BEHE |pomsresob H17.01.01 [ &%
Alo|ofo] 2|k H17 30 4 | R17.12.31 | BEHE |momsresob H18.01.01 [ &
Alo|ofo] 2|k HI18 30 4 | R18.12.31 | BEHE |moisresob H19.01.01 [ &%
Alo|ofo] 2|k H19 30 4 | R19.12.31 | BEHE |pomsreob H20.01.01 [ &%
Alo|ofo] 2|k H20 30 4= | R20.12.31 | BEHE |momsreob H21.01.01 [ &%
Alo|ofo] 2|k H21 30 4 | R21.12.31 | BEHE |momsresob H22.01.01 [ &%
Al0]| 0| 0|2 |miECER H22 30 4E | R22.12.31 | JEHE |~ xok H23.01.01 | #%&
Alojo]o]2|meEscEE H23 30 4F | R23.12.31 | BEEE |t iob H24.01.01 | &%
Al0]| 0| 0|2 |miECER H24 30 4F | R24.12.31 | BEZE |smsveaor| H24.01.01 | H25.01.01 | #&%
Alofo]o]2|fEcER H25 30 4E | R25.12.31 | BE#E |smxvrxok| H25.01.01 | H26.01.01 | %%
Alo|ofo]2|mmEsrER 126 30 4F | R26.12.31 | BEZE |smxvrxor| H26.01.01 | H27.01.01 |  #&
Alo|ofo]2|mEEsrER H27 30 4E | R27.12.31 | EE=E |smxvrxor| H27.01.01 | H28.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
AlO|O|Of2[FEEcER H28 30 4E | R28.12.31 | FgzE |mmrvrson| H28.01.01 | H29.01.01 | %%
AlO|O|Of2[FEEcER H29 30 4E | R29.12.31 | FgzE |mmrerson| H29.01.01 | H30.01.01 | %%
AlO|O|Of2[FEEcER H30 30 4E | R30.12.31 | FgzE |mmrvrsor| H30.01.01 | H31.01.01 | %%
AlO|O|Of2[FEEcER RO1 30 4E | R31.12.31 | FgzE |mmrvrsor| H31.01.01 | R02.01.01 | %%
AlO|O|Of2[FEEcER R02 30 4E | R32.12.31 | FgzE |mmx+rsor| R02.01.01 | RO3.01.01 | %%
Al0] 0] 0|2 |5 cEH RO3 30 4£ | R33.12.31 | pBE#E |mmx+rxor]| R03.01.01 | R04.01.01 | #%
A[O] 1] 0] 1 [AFFE XIEEE HO1 30 4 | R13.12.31 | BEEE |mmsrisiob H14.01.01 [ &%
A[O] 1] 0] 1 [AFFE XKIEEEK HO02 30 4 | R13.12.31 | BEFE |mmsrisob H14.01.01 [ &%
A[O] 1] 0] 1 [AFFEXIEEE HO7 30 4 | R13.12.31 | BEFE |mmsrisob H14.01.01 [ &%
A[O] 1] 0] 1 [AFFEXIEEE H11 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
A[O] 1] 0] 1 [AFFEXIEEEH H12 30 4 | R13.12.31 | BEIE |momsreob H14.01.01 [ &%
A[O] 1] 0] 1 [AFFEXIEEEH H13 30 4 | R13.12.31 | BEHE |misrisob H14.01.01 [ #%
A[O] 1] 0] 1 [AFFEXIEEEH H14 30 4 | R14.12.31 | BEHE |pomsresob H15.01.01 [ &%
A[O] 1] 0] 1 [AFFEXIEEEH H19 30 4 | R19.12.31 | BEHE |pomsreob H20.01.01 [ &%
A[O] 1] 0] 1 [AFFEXIEEEH R04 30 4 | R34.12.31 | BE#E |mmxvtiob| R04.01.01 | R05.01.01 [ %
A[O] 1] 0] 1 [AFFEXIEEEH R0O5 30 4 | R35.12.31 | BE#E |mmx+exok| R05.01.01 | R06.01.01 | #&
Al O] 1] 0] 2 [ARITHE Xl H27 10 48 | R7.12.31 | FEZE [mivesob| H27.01.01 | H28.01.01 |  #%
ALO[1[0[2 (A Xk RO4 10 4 | R14.12.31 | BEHE |misrexoh| R04.01.01 | R05.01.01 [ #%
ALO[ 1[0 2 (A Xk RO5 10 4= | R15.12.31 | BEZE |[mmsvexok| R05.01.01 [ R06.01.01 | &
A[O] 1]0[3|ATE s EEH RO3 54F | R8.12.31 | BE#EE |mwsrvriok| R03.01.01 | R04.01.01 | %
A[O] 1] 0] 3 A& XiEEEH RO4 54 | R9.12.31 | FEZE |mmsvrsob| R04.01.01 | R05.01.01 | #%
Al O] 1] 0] 3 |ARTRE XS R0O5 54 | R10.12.31 | BEZE |mm=+exok| R05.01.01 | R06.01.01 | #&%
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<y 77 AN, B\ prmmpy | LS e | 7200 | RS RILD
ALO[ 1[04 AT RS RO4 34| R7.12.31 | BEFE [wmsrexokb[ R04.01.01 [ R05.01.01 [ &K
Al0 0| 4 | AT KisEEK RO5 3 4 | R08.12.31 | BEFE [mm=rexob| R05.01.01 | R06.01.01 | #&
Al0 0| 5 | AT KisEEK RO5 1 4 | R06.12.31 | BEIE [mMx+exok[ R05.01.01 | R06.01.01 |  #&%
Al 0 0 | 6 |l R HO1 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | #&
Al 0 0 | 6 |l R HO02 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | #&
Al0 0| 6 [fFIEim R H03 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al0 0| 6 [fFIFim R H04 30 4E | R13.12.31 | JEEHE |mmsreiob H14.01.01 | &
Al0 0| 6 [ R HO05 30 4E | R13.12.31 | JEZHE |mmsveiob H14.01.01 | &
Al0 0| 6 [ R 106 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al0 0| 6 [ R HO7 30 4E | R13.12.31 | JEEHE |mmsreiob H14.01.01 | &
Al0 0| 6 [ R HO8 30 4E | R13.12.31 | JEHE |mmsreioh H14.01.01 | &
Al0 0 | 6 |l % HO09 30 4E | R13.12.31 | JEHE |mmsveiob H14.01.01 | #&
Al0 0 | 6 |l % H10 30 4E | R13.12.31 | JEHE |mmsveiob H14.01.01 | #&
Al0 0 | 6 |l % H11 30 4E | R13.12.31 | JEHE |mmsveiob H14.01.01 | #&
Al0 0 | 6 |l % H12 30 4E | R13.12.31 | JEHE |mmsveiob H14.01.01 | #&
Al0 0 | 6 |l % H13 30 4E | R13.12.31 | JEHE |mmsveiob H14.01.01 | #&
Al 0 0 | 6 |51 % H14 30 4F | R14.12.31 | BE3#E |mmsreiob H15.01.01 | #&
Al0 0 | 6 |l % H15 30 42 | R15.12.31 | BEEE %ol H16.01.01 | #%
Al 0 0 | 6 |51 % H16 30 4F | R16.12.31 | BE#E |mmsreiob H17.01.01 | %%
Al0 0 | 6 |l % H17 30 42 | R17.12.31 | FEEE |smxrisoh H18.01.01 | #&
Al 0 0 | 6 |51 % H18 30 4F | R18.12.31 | BE3HE |mmsre b H19.01.01 | %%
Al 0 0 | 6 |51 % H19 30 4F | R19.12.31 | BEHE |msre ok H20.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
AlOf1]0]6 |pIHEER H20 30 4E | R20.12.31 | BEIHE |mmsreiob H21.01.01 | &
AlOf1]0]6 |pIHEER H21 30 4E | R21.12.31 | BEIHE |mmsreioh H22.01.01 | %
AlOf1]0]6 |pIHEER H22 30 4F | R22.12.31 | BEIHE |mmsveioh H23.01.01 | %
AlOf1]0]6 |pIHEER H23 30 4F | R23.12.31 | BEEHE |mmsreioh H24.01.01 | %
AlO| 1|06 |FlEmEE H24 30 4E | R24.12.31 | FgzE |mwmrerson| H24.01.01 | H25.01.01 | %%
Alo] 10| 6 |fFIHEER H25 30 4 | R25.12.31 | BEHE |smxvexok| H25.01.01 | H26.01.01 |  #&
Alo] 10| 6 |fFIHEER 126 30 4 | R26.12.31 | BEHE |mmxvexok| H26.01.01 | H27.01.01 |  #&
Al0]| 1|06 |BHEERH H27 30 4= | R27.12.31 | BEHE |mmxvexob| H27.01.01 | H28.01.01 | #%
Alo] 10| 6 |fFIHEER 128 30 4 | R28.12.31 | BEHE |sm=vexok| H28.01.01 | H29.01.01 | #&
Alo] 10| 6 |fFIEEER H29 30 4 | R29.12.31 | BEHE |sm=vexok| H29.01.01 | H30.01.01 | #&
Alo] 10| 6 |fFIHEER RO1 30 4 | R31.12.31 | BEHE |sm=+vexok| H31.01.01 | R02.01.01 | #&
A0 1]0]6 [fBIHeERH R02 30 4F | R32.12.31 | BEZE |mix+r*or| R02.01.01 | R03.01.01 [ %
Al 0| 1] 0|6 |fFIHLEER RO3 30 4 | R33.12.31 | BEHE |mmx+exok| R03.01.01 | R04.01.01 | #&
A0 1]0]6 [fBIHeERH R04 30 4F | R34.12.31 | BEZE |mix+t*or| R04.01.01 | R05.01.01 [ %
A0 1|0] 6| EERE R0O5 30 4 | R35.12.31 | BE#E |mmx+exok| R05.01.01 | R06.01.01 | #&
A0 1|07 [l H26 10 45 | R6.12.31 | PEHE [mmxvexok| H26.01.01 | H27.01.01 | &
A0 1] 0] 7 [fBIHmiER H27 10 48 | R7.12.31 | BE#E [mmx~vrxor| H27.01.01 [ H28.01.01 |  #%
AlO[ 10| 7 [fBIHlmmiER H28 10 4 | R8.12.31 | BEH#E [mm~vrxor| H28.01.01 [ H29.01.01 |  #%
AlO[ 1] 0] 7 [fBIHlmiER H29 10 4 | R9.12.31 | BEH#E [mm~rxor| H29.01.01 [ H30.01.01 | #%
A0 1] 0] 7 [fBIHmiER RO4 10 48 | R14.12.31 | BE#E [mmxvrxob| R04.01.01 | R05.01.01 | #&
A0 1|07 —MxmeE RO1 10 48 | R11.12.31 | FEZE [mms+rxor| H31.01.01 | R02.01.01 | %%
AlOf1]0]7|—imiEk RO2 10 4E | R12.12.31 | Be#E [mmx+vrxor| RO2.01.01 | RO3.01.01 | ¢
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
AlO| 1[0 7| RO3 10 47 | R13.12.31 | BEHE [mm*vexob| R03.01.01 [ RO4.01.01 | #E
A[O] 1] 0] 7 [—fam ks RO4 10 4F | R14.12.31 | BEHE [mm*vexob| R04.01.01 [ R05.01.01 | #&
A[O] 1|07 [—fxim s R05 10 47 | R15.12.31 | B3 [mM*vexob| R05.01.01 [ R06.01.01 | #E
A[O[ 1|08 |k RO1 54 | R6.12.31 | BEZE [mmsveiob| H31.01.01 | R0O2.01.01 |  #K
A[O[ 1|08 |k R02 54 | R7.12.31 | BEZE [mmsreiob| R02.01.01 | R03.01.01 | #&
Alo|1|o0] 8| —fkimEH RO3 54 | RS.12.31 | FEHE [mmsrexor| R03.01.01 | R04.01.01 | #E
AlO]| 1] 0|8 | —mxmiE RO4 54 | R9.12.31 | BEFE [mm=+rxob| R04.01.01 | R05.01.01 | #E
Alo] 1|08 |—fkimiERE RO5 54 | R10.12.31 | FEZE |mm=rexor| R05.01.01 | R06.01.01 | #E
Alo| 1|0 9| —kimE RO3 34 | R6.12.31 | BFEZE [mm=rexor| R03.01.01 | R04.01.01 | #E
AlO| 1] 0|9 |—mmaER RO4 34| R7.12.31 | BEFE |mfsveior| R04.01.01 | R05.01.01 [ #%
Alo]1]0]9|—fkimiERE RO5 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #E
Alo| 1| 1] o fmeEk R0O5 14 | R06.12.31 | BEZE |mmx+rxok| R05.01.01 | R06.01.01 |  #&%
AlO0| 1] 1|5 @Ak RO1 54 | R6.12.31 | BE#HE |miirvciuk| H31.01.01 [ R02.01.01 | &
Al 0| 1| 1]5|@EnsEsz R0O2 54 | R7.12.31 | BEFE |mfsvexor| R02.01.01 | R03.01.01 [ #%
AlO0|1|1]5|@EEnSsk% RO3 54 | R8.12.31 | FEZE [mm=rexor| R03.01.01 | R04.01.01 | #&
AlO0| 1] 1|5 |[mkEnssi RO4 54 | R9.12.31 | BEHE |mfsvexor| R04.01.01 | R05.01.01 [ #%
AlO] 1| 1]5 @R R0O5 5 4F | R10.12.31 | FgsE |[mmerexob| R05.01.01 | R06.01.01 A
AlO0] 1| 1] 6 [BENZER R0O3 34 | R6.12.31 | FEZE |mmxvexor| R03.01.01 | R04.01.01 A
Al 0] 1| 1|6 [ R04 34E | R7.12.31 | BEZE |mwix+rsor| R04.01.01 | R05.01.01 [ %
AlOo] 1| 1]6|@EER R0O5 34 | R08.12.31 | BEZE |mmxvexok| R05.01.01 | R06.01.01 A
AlO| 1| 1] 7 [imanssss R0O5 1 4 | R06.12.31 | BEZE |mx+rxok| R05.01.01 | R06.01.01 |  #%
Al0|2]0]| 2 |=FBEu RO3 34| R6.12.31 | BEZE [ms+tiok| R03.01.01 [ R04.01.01 | %
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
AlOof2]0] 2 |[FBBEuR RO4 34E | R7.12.31 | BEZE |Botrvexob| R04.01.01 [ R05.01.01 | %
Al0f2]0] 2 =Btk R05 3 4F | R08.12.31 | BEFE |mmrve itk R05.01.01 [ R06.01.01 | %
AlO[2]0] 4 [FB5IHkBELRFE R05 1 A | R06.12.31 | BEFE |#M*veiob| R05.01.01 | R06.01.01 | #K
Alof2]|0]6|3CET7ANVEEE AR T H HHTANH GHUARR
AlOf2] 1] 2 (A RIREHRESRK R4 34 | R7.12.31 | BEZE [mm=rexor| R04.01.01 | R05.01.01 | #E
A0 2| 1] 2[ABIEHRE S R0O5 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #&
Alof 2] 1|5 |CEREE-BEHE RO1 54| R6.12.31 | BEHE [mms+eiob| H31.01.01 | R02.01.01 | #%
Alof 2] 1|5 |EREE-BEHE RO2 54 | R7.12.31 | BEZE [mm=veiok| R02.01.01 [ R03.01.01 | &
Al0| 2| 1|5 |CEREE -BEE RO3 54 | R8.12.31 | BEZE |mm=+txok| R03.01.01 | R04.01.01 | %%
Alof2] 1|5 |CEREE-BEHE R04 54 | R9.12.31 | BEZE [mm=veiok| RO4.01.01 [ R05.01.01 | &
Alof2|1|5[rEpEEE-BERE RO5 54 | R10.12.31 | BEZE [mm=+txok| R05.01.01 | R06.01.01 | %%
A[0]3[0] 1 [z BUsE B R04 34 | R7.12.31 | BFEZE [mmsrexor| R04.01.01 | R05.01.01 | #E
Al0|5] 0|1 |fBIRI AR RO3 34 | R6.12.31 | FEZE [mmsrexor| R03.01.01 | R04.01.01 | #E
A[0]|5[0] 1 [HuikEaRatRER R04 34 | R7.12.31 | BEZE [mmsrexor| R04.01.01 | R05.01.01 | #&
Al0]|5[0] 1 [HuikBaRatRER R0O5 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #&
Al 12|01 |rEszRHmE RO3 34E | R6.12.31 | HIBR [HA 7444 | R03.01.01 | R04.01.01 |msaics
Al1|2]0] 1 |[srE=F A E R0O5 3 4E | R08.12.31 | MR [HtA 7414 | R05.01.01 | R06.01.01 |mmvis
Al1|2]10]2|E A BRI |mEMFrEEob HE
Al210[ 0| 1 [ A= FtdEhimEnEf RO5 30 4E | R35.12.31 | BE#E |sms+cxor| R05.01.01 | R06.01.01 |  #&%
Al2]0]0]2|nEREERE HO1 30 4 | R13.12.31 | FEHE |mixvrxok H14.01.01 [ &
Al2(0]| 0|2/t ER HO02 30 4F | R13.12.31 | BE3HE |mmsre ok H14.01.01 [ #&
Al2]0|0f2|mrEfEEE HO03 30 4 | R13.12.31 | BEFE |%re sk H14.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al2(0]0]2|mEtaEdE HO4 30 4F | R13.12.31 | FE3E |mmervrsor H14.01.01 | &
Al2(0]0]2|/mEtaEdE HO05 30 4F | R13.12.31 | FE3E |mmervrsor H14.01.01 | &
Al2(0]0]2|/mrEEtEEdE HO06 30 4F | R13.12.31 | FE3E |mmervrsor H14.01.01 | &
Al2(0]|0]2|/mEtaEdE HO7 30 4F | R13.12.31 | FEZE |mmervror H14.01.01 | &
Al2(0]0]2|/mEEtaEdE HO8 30 4F | R13.12.31 | FEZE |mmervror H14.01.01 | &
Al2|0f0]2[mElEER H09 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al2]|0f0]2[mElEER H10 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al2|0f0]2[mElEER H11 30 4 | R13.12.31 | BEIE |momsreob H14.01.01 [ &%
Al2])0f0]2[mElEER H12 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al2]|0f0]2[mElEER H13 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al2])0f0]2[mElEER H14 30 4 | R14.12.31 | BEIE |pomsresob H15.01.01 [ &%
Al2|0f0]2[mEEERE H15 30 4 | R15.12.31 | BEHE |pomsresob H16.01.01 [ &%
Al2|0f0]2[mEEERE H16 30 4 | R16.12.31 | BEHE |pomsresob H17.01.01 [ &%
Al2|0f0]2[mEEERE H17 30 4 | R17.12.31 | BEHE |pomsresob H18.01.01 [ &
Al2|0f0]2[mEEERE HI18 30 4 | R18.12.31 | BEHE |poisreob H19.01.01 [ &%
Al2|0f0]2[mEEERE H19 30 4 | R19.12.31 | BE3HE |pomsresob H20.01.01 [ &%
Al2]0]0]2|nEREERE H20 30 4 | R20.12.31 | BEHE |mfixvirxok H21.01.01 [ &
Al2(0]0|2|/rEEtaER H21 30 4£ | R21.12.31 | BEEE %t soh H22.01.01 | #&
Al2(0]0|2|/rEEtaER H22 30 4 | R22.12.31 | FEEE %ol H23.01.01 | #%&
Al2lo]o|2|nEiEEHE H23 30 4 | R23.12.31 | BEZE |momrreiob H24.01.01 | #&%
Al2]0|0f2[/mEfETE H24 30 4E | R24.12.31 | BE#E |mmavrxor| H24.01.01 | H25.01.01 | #%
Al2]0|0f2|mrEfEEE H25 30 4E | R25.12.31 | FEFE |mmxvexon| H25.01.01 | H26.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al2]o]0|2|mEfEERE H26 30 £ [ R26.12.31 | BEZE |mmx+cxon| H26.01.01 | H27.01.01 |  #%
Alz2]o]0|2|mEfEERE H27 30 £ [ R27.12.31 | BEZE |mmx+cxon| H27.01.01 | H28.01.01 | #%
Alz2]o]0|2|mEfEERE H28 30 4E [ R28.12.31 | BEZE |mmx+xon| H28.01.01 | H29.01.01 | #%
Alz2]o]0|2|mEfEERE H29 30 45 [ R29.12.31 | BEZE |mmx+xon| H29.01.01 | H30.01.01 |  #%
Alz2]o]0|2|mEfEERE H30 30 45 [ R30.12.31 | BEZE |mmx+rxon| H30.01.01 | H31.01.01 | #%
Al2|0f0]2[mElEER RO1 30 £ | R31.12.31 | pEZE |mmx+rson| H31.01.01 | R02.01.01 |  #%
Al2]|0f0]2[mElEER R02 30 4F | R32.12.31 | JEZHE |smsrexob| R02.01.01 | R03.01.01 | %
INPAKN U RAGE SEhes . RO3 30 £ | R33.12.31 | pE#E |mmx+rxor]| R03.01.01 | R04.01.01 | %%
Al2])0f0]2[mElEER RO4 30 4E | R34.12.31 | JEZHE |smsveixob| R04.01.01 | R05.01.01 | %
Al2]|0f0]2[mElEER R0O5 30 4£ | R35.12.31 | pE#E |mmx+rxor| R05.01.01 | R06.01.01 | #%
Al2]5]| 0|1 |#FE BB RO3 34 | R6.12.31 | BFEZE [mm=rexor| R03.01.01 | R04.01.01 | #E
Al 25|01 [BEESEBERRK RO4 34| R7.12.31 | BEZE [mmsveiok| R04.01.01 | R05.01.01 | &
Al 25|01 [BEESEBERRK R0O5 3 4 | R08.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #&
Al2]7]0] 1 [HaEBERE R0O5 14 | R06.12.31 | BEZE |mmx+cxok| R05.01.01 | R06.01.01 | %%
Al2(9]0] 1 [HGEH~EEBIRE R05 1 4 | R06.12.31 | BgZE |smx+exor| R05.01.01 | R06.01.01 | #%
Al 29| 0] 4 |Headns RETLETE RO3 34 | R6.12.31 | FEZE [mmsrexor| R03.01.01 | R04.01.01 | #E
A[2]9]0]| 4 [FeEsdhl ek RO4 34 | R7.12.31 | BEZHE |smsvriob| R04.01.01 | R05.01.01 | %
A[2]9]0]| 4 [FEsdnl R ek RO5 3 4% [ R08.12.31 | BEHE [mm=+vrxob| R05.01.01 | R06.01.01 |  #&
Al 29|05 |HBFH~RMREE -Ex RO3 345 | R6.12.31 | pE#E [mms+rxor| RO3.01.01 | R04.01.01 | %%
Al2(9|0]|5 [BER~CRIHR LB RO4 34E | R7.12.31 | pE#E |mms+rxor| R04.01.01 | R05.01.01 | %%
Al2]9]0]5 [HEFH~R = EE RO5 3 4E | R08.12.31 | BE#E [mm=+rxor| R05.01.01 | R06.01.01 | ¢
Al2]9]0] 6 [EEXSITARAERES RO4 34| R7.12.31 | BEHE [mom=reiob| R04.01.01 | R05.01.01 | #%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
A[2]9]0] 6 [BEERZRITARAERES R05 3 4 | R08.12.31 | BEFE [mm=rexob| R05.01.01 | R06.01.01 | #&
Al3 0| 2 |52 EAfRA% R05 14 | R06.12.31 | BEZE |mx+exok| R05.01.01 | R06.01.01 |  #%
A[3]1]0] 2 [Eggl) L faiaHe R05 1 45 [ R06.12.31 | BEZE |smx+rxoh| R05.01.01 | R06.01.01 |  #%
Al3| 2|01 [REAKE H13 30 4F | R13.12.31 | BEZE |mfisveiob H14.01.01 | #&%
Al3| 2|01 [REABKE H14 30 4F | R14.12.31 | BEZE |mfisveiob H15.01.01 | #%
Al3]2|0] 1 [EREAE H15 30 4 | R15.12.31 | BEIE |pomsresob H16.01.01 [ &%
Al3]2|0] 1 [REAE H16 30 4 | R16.12.31 | BEIE |pomsresob H17.01.01 [ &%
Al3]2|0] 1 [EREAE H17 30 4 | R17.12.31 | BEIE |momsresob H18.01.01 [ &%
Al32|0] 1 [REAE HI18 30 4 | R18.12.31 | BEIHE |momsreob H19.01.01 [ &%
Al3]2|0] 1 [REAE H19 30 4 | R19.12.31 | BEHE |pomsreob H20.01.01 [ &%
Al3]2|0f 1 [REANKE H20 30 4F | R20.12.31 | BEIE |mirer ok H21.01.01 | &
Al3]2]0]1[EEAIE H21 30 4 | R21.12.31 | BEHE |momsreob H22.01.01 [ &%
Al3]2]0]1[EEAIE H22 30 4 | R22.12.31 | BEHE |momsre ok H23.01.01 [ &%
Al3[2]0]1[REaIE H23 30 4F | R23.12.31 | BEIE |mirer ok H24.01.01 | &
Al3]2]0]1[EEAIE H24 30 4 | R24.12.31 | BEHE |mmxvexok| H24.01.01 | H25.01.01 | #&
Al3]2]0]1[EEAIE H25 30 4 | R25.12.31 | BEHE |smxvexok| H25.01.01 | H26.01.01 |  #&
Al3[2]0] 1 [RERIE H26 30 4E | R26.12.31 | BE#E |smxvrxok| H26.01.01 | H27.01.01 | %%
Al3[2]0] 1 [RERIE H27 30 4E | R27.12.31 | BE=E |smxvrxor| H27.01.01 | H28.01.01 | %%
Al3[2]0]1[RERIE H28 30 4E | R28.12.31 | BE=E |smx+vrxok| H28.01.01 | H29.01.01 | %%
Al3[2]0]1[RERIE H29 30 4E | R29.12.31 | BE=E |smxrxok| H29.01.01 | H30.01.01 | %%
Al3]2|0f1[RERIE RO1 30 4E | R31.12.31 | BEZE |mmavrxor| H31.01.01 | RO2.01.01 |  #%
Al3[2]0]1[REBIE R02 30 4E | R32.12.31 | FEFE |smxvexor| R02.01.01 | R03.01.01 | %%
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eI 5> TrANA B\ prmmpy | LS e | 7200 | RS RILD
Al3|2]0f 1 |EEAE RO3 30 4% | R33.12.31 | BEFE |smsrexok| R03.01.01 | R0O4.01.01 | %
Al3[2]0] 1 [REARIE RO4 30 4 | R34.12.31 | BEFE |smsrexok R04.01.01 | R05.01.01 | %
Al3[2]0] 1 [REARIE R05 30 4% | R35.12.31 | BEFE |smsrexok R05.01.01 | R06.01.01 | %
Al 32|03 |EEERE RO3 34| R6.12.31 | BEZFE |moWirvexob| R03.01.01 [ R0O4.01.01 | &
Al3[2]0] 3 |FRERELRRE RO4 34E | R7.12.31 | BEZE |motirvexob| R04.01.01 [ R05.01.01 | %
Al3]2]0] 3 |FEEBRE R0O5 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #&
A[4]0] 1|0 [HREFCERMERDRE RS % R05 1 46 | R06.12.31 | BEZE |fmx+r vk R05.01.01 | R06.01.01 |  #&%
Al5|0]0] 1 [ fEERIfRE HO02 30 4E [ R13.12.31 | BEZE [mixeion H14.01.01 [ &%
Al5]|0[0] 1 [#A&FEHBILRH HO3 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
Al5]0]0] 1 (A fEEBRE HO4 30 45 [ R13.12.31 | BEZE [mixeioh H14.01.01 [ &%
Al5]|0[0] 1 [ FEHBILREK HO5 30 4 | R13.12.31 | BEIE |momsreob H14.01.01 [ &%
Al5]|0[0] 1 [#EFEHBILR HO6 30 4 | R13.12.31 | BEHE |momsresob H14.01.01 [ &%
A5 0[0] 1 [#EFEHBILRH HO7 30 4 | R13.12.31 | BEHE |momsresob H14.01.01 [ &%
A5 0[0] 1 [#EFEHBILRH HO8 30 4 | R13.12.31 | BEHE |momsresob H14.01.01 [ &%
A5 0[0] 1 [#EFEHBILRR H09 30 4 | R13.12.31 | BEHE |moisresob H14.01.01 [ &%
Al5]0]0] 1 (HEEfEfERIfRE H12 30 4E | R13.12.31 | BEHE [mixeioh H14.01.01 [ &%
Al5]|0[0] 1 [HA&FEHBILRR H15 30 42 | R15.12.31 | BEEE %ol H16.01.01 | #&
Al5(0]0] 1 (¥R PR H16 30 4F | R16.12.31 | BE#E |mmsreiob H17.01.01 | %%
Al5(0]0] 1 (¥R PR H18 30 4F | R18.12.31 | BEH#E |mmsrriob H19.01.01 | %%
Al5(0]0] 1 (¥R PR H19 30 4F | R19.12.31 | BE#E |mmsrriob H20.01.01 | %%
Al5|0[0] 1 [HEFEHBILRE H20 30 4F | R20.12.31 | BEEE |t iob H21.01.01 | &%
Al5|0[0] 1 [FRAETEHHBILR H21 30 4F | R21.12.31 | BEHE |sfrvresob H22.01.01 | #&
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al5[0]0] 1 [#8AF5HHBILRFR H22 30 4F | R22.12.31 | FEZE |mmervcior H23.01.01 | &
Al5[0]0] 1 [#8AFEHHBILRFR H23 30 4F | R23.12.31 | FEZE |mmervrior H24.01.01 | &
A[5[0[0[1 [HRAFEHHEBIGRE H24 30 45 [ R24.12.31 | BEZE |mmx+cxon| H24.01.01 | H25.01.01 |  #%
A[5[0[0[1 [HRAFEHHBIGRK H25 30 45 [ R25.12.31 | BEZE |mmx+exon| H25.01.01 | H26.01.01 |  #%
A[5[0[0[1 [fRAFEHHBIGR H26 30 £ [ R26.12.31 | BEZE |mmx+cxon| H26.01.01 | H27.01.01 | #%
Al5]|0[0] 1 [ FEHBILRE H27 30 £ | R27.12.31 | pEzE |mmxsrson]| H27.01.01 | H28.01.01 |  #&
Al5]|0[0] 1 [ FEHBILRH 128 30 4E | R28.12.31 | pEzE |mmxsron]| 128.01.01 | H29.01.01 |  #%
Al5]|0[0] 1 (& FEHBILRH H29 30 £ | R29.12.31 | pezE |mmx+rxon]| H29.01.01 | H30.01.01 |  #%
Al5]|0[0] 1 [#A&FEHBILRH H30 30 £ | R30.12.31 | peZE |mmx+rxor]| H30.01.01 | H31.01.01 |  #%
Al5]|0[0] 1 (A& FEHBILRH RO1 30 £ | R31.12.31 | pe#E |mmx+ron]| H31.01.01 | R02.01.01 |  #%
Al5]|0[0] 1 [ FEHBILREK R0O2 30 4£ | R32.12.31 | pEZE |mmx+rxor]| R02.01.01 | R03.01.01 | #%
Al5| 0|01 |#RAfREHERERE RO3 30 4 | R33.12.31 | BE#E |mmx+exok| R03.01.01 | R04.01.01 | #&
A5 0[0] 1 [#EFEHBILRH R04 30 4 | R34.12.31 | BE#E |mmx+exok| R04.01.01 | R05.01.01 | #&
Al5|0[0] 1 [HEFEHBIRTE R0O5 30 4 | R35.12.31 | BE#E |mmx+exok| R05.01.01 | R06.01.01 | #&
A5 0| 0] 4 L3R F-LLBRE H02 30 4 | R13.12.31 | BEHE |moisresob H14.01.01 [ &%
A5 0| 0] 4 L3R F-LLBRE HO3 30 4 | R13.12.31 | BEHE |moisresob H14.01.01 [ &%
Al5]|0[0] 4 [LIRFLLPRE H04 30 4F | R13.12.31 | BEZEE |t iob H14.01.01 |  #%
Al5]|0[0] 4 [LIRFLLPRE HO5 30 4F | R13.12.31 | BEZEE |t iob H14.01.01 |  #%
Al5]|0[0] 4 [LIRFLLPRE HO06 30 4F | R13.12.31 | BEEE |t iob H14.01.01 | #&%
Al5]|0[0] 4 [LIRFLLPRE HO7 30 4F | R13.12.31 | BEEE |t iob H14.01.01 | #&%
Al5]|0[0] 4 [AL5RF-LLBRE HO8 30 4F | R13.12.31 | BEEE |t iob H14.01.01 |  #&%
Al5]0]0]4 AL FFLERE H09 30 4F | R13.12.31 | BEHE |sfrvresob H14.01.01 | #&
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al 50| 0] 4 L3R F{ALBRE H10 30 4 | R13.12.31 | BEEE |mmsviesob H14.01.01 | %%
Al 5|0 0] 4 L3R F{ALBRE H11 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Al 50| 0] 4 L3R F{ALBRE H12 30 4 | R13.12.31 | BEEE |mmsviesob H14.01.01 | %%
Al 50| 0] 4 L3R F{ALBRE H13 30 42 | R13.12.31 | BEEE |mmsviesiob H14.01.01 | %%
Al 50| 0] 4 L3R F{ALBRE H14 30 4 | R14.12.31 | BFEEE |mmsviesiob H15.01.01 | %%
Al 50| 0] 4 L3R F{LLBRE H15 30 4 | R15.12.31 | BEIE |pomsresob H16.01.01 [ &%
Al 50| 0] 4 L3R F{LLBRE H16 30 4 | R16.12.31 | BEIE |pomsresob H17.01.01 [ &%
Al 50| 0] 4 L3R F{LLBRE H17 30 4 | R17.12.31 | BEIE |momsresob H18.01.01 [ &%
Al 50| 0] 4 L3R F{-LLBRE HI18 30 4 | R18.12.31 | BEIHE |momsreob H19.01.01 [ &%
Al 5|0 0] 4 L3R F{LLBRE H19 30 4 | R19.12.31 | BEHE |pomsreob H20.01.01 [ &%
Al 50| 0] 4 L3R F{LLBRE H20 30 4 | R20.12.31 | BEHE |pomsreob H21.01.01 [ &%
A5 0| 0] 4 L3R F-LLBRE H21 30 4 | R21.12.31 | BEHE |momsreob H22.01.01 [ &%
A5 0| 0] 4 L3R F-LLBRE H22 30 4 | R22.12.31 | BEHE |momsre ok H23.01.01 [ &%
A5 0| 0] 4 L3R F-LLBRE H23 30 4 | R23.12.31 | BEHE |momsreob H24.01.01 [ &%
A5 0| 0] 4 L3R F-LLBRE H24 30 4 | R24.12.31 | BEHE |mmxvexok| H24.01.01 | H25.01.01 | #&
A5 0| 0] 4 L3R F-LLBRE H25 30 4 | R25.12.31 | BEHE |smxvexok| H25.01.01 | H26.01.01 |  #&
A|5(0]0]| 4 [FEIEFIFALERE H26 30 4E | R26.12.31 | BE#E |smxvrxok| H26.01.01 | H27.01.01 | %%
Al5(0] 0|4 [FEIEFIFLERE H27 30 4E | R27.12.31 | BE=E |smxvrxor| H27.01.01 | H28.01.01 | %%
A|5(0]0]| 4 [FEIEFIFALERE H28 30 4E | R28.12.31 | BE=E |smx+vrxok| H28.01.01 | H29.01.01 | %%
A|5(0]0]| 4 [FEIEFIFALERE H29 30 4E | R29.12.31 | BE=E |smxrxok| H29.01.01 | H30.01.01 | %%
Al5]|0[0] 4 [AL5RF-LLBRE H30 30 4F | R30.12.31 | BgZE |smerxor| H30.01.01 | H31.01.01 | %%
Al5]0]0]4 AL FFLERE RO1 30 4E | R31.12.31 | BE=E |smx+vrxok| H31.01.01 | R02.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
A|5(0] 0|4 [FLIRFIFULPRE R02 30 4 | R32.12.31 | FEZE |mmsrrxok| R02.01.01 | R03.01.01 | %%
A5 0|04 |FEIRFLELRE RO3 30 42 | R33.12.31 | FEZE |mmsvrxok| R03.01.01 | R04.01.01 | %%
A|5(0] 0|4 [FLIEFIFULPRE R04 30 4 | R34.12.31 | FEZE |mmsvrxok| R04.01.01 | R05.01.01 | %%
A|5(0] 0|4 [FLIRFIFULPRE R05 30 42 | R35.12.31 | FEZE |mmxrrxok| R05.01.01 | R06.01.01 | %%
Al5]0]0]|6[mIRGEKRE H29 10 4 | R9.12.31 | BEZE [wmxrexob| H29.01.01 | H30.01.01 | #%
Al5]|0[0]6[mikeEkiE H30 10 4E | R10.12.31 | BEZE |mm=+exok| 130.01.01 [ H31.01.01 | %%
Al5]|0[0]6[mikeEkE RO1 10 45 | R11.12.31 | BEZE |mms+exok| 131.01.01 [ R02.01.01 | %%
Al5]|0[0]6[mikeEkiE R0O2 10 4E | R12.12.31 | BEZE |mm=+exsk| R02.01.01 | R03.01.01 | %%
Al5|0]0[6 | IRGE k& RO3 10 4E | R13.12.31 | BEZE |mm=+exsk| R03.01.01 | RO4.01.01 | %%
Al5]|0[0]6[mikeEkE R04 10 4E | R14.12.31 | BEZE |mm=+exsk| R04.01.01 | R05.01.01 | %%
Al5]|0[0]6[mikeEkiE R05 10 4E | R15.12.31 | BEZE |mm=+txsk| R05.01.01 | R06.01.01 | %%
A5 0] 1|1 |wpHE RO3 34 | R6.12.31 | FEZE [mmsrexor| R03.01.01 | R04.01.01 | #E
Al5|o] 1|1 [P RO4 348 | R7.12.31 | BEsE |mmsrexor| RO4.01.01 | R05.01.01 [ #E
Al5|0f1]1|MFEHE R0O5 3 4 | R08.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #&
Al5[0]1]6 [AFEELEE RO4 34E | R7.12.31 | BEHE |ssrveiob| R04.01.01 | R05.01.01 | %
Al5] 0| 1] 6 [FKREEE R0O5 3 4 | R08.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #&
Al5|0| 1|7 [ LEkE RO3 34| R6.12.31 | BEHE |mxveixob| R03.01.01 | R04.01.01 | #%
Al5|2]0] 2GR IRFTE H14 30 4F | R14.12.31 | FEH#E | ot H15.01.01 [ &%
Al 5| 2| 0] 2 [FEMU IR A7 H15 30 42 | R15.12.31 | FEEE %t soh H16.01.01 | #&
Al 5| 2| 0] 2 [FEMU IR A7 H16 30 42 | R16.12.31 | FEEE |smxrisoh H17.01.01 | #&
Al 5| 2| 0] 2 [FEU IR A7 H17 30 4£ | R17.12.31 | FEEE %ol H18.01.01 | #&
Al5| 2|02 FERU R AF T H21 30 4 | R21.12.31 | BEZE [miaesiok H22.01.01 | #&
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Al5]2]0]| 2 [FEEUERA7TE H22 30 4E | R22.12.31 | BEIE [momx~rioh H23.01.01 | %%
Al5]2]0] 2 [FEIU R A7 TS H23 30 4E | R23.12.31 | BEIE [momx~rion H24.01.01 | %%
Al 5| 2| 0] 2 [GEAH-OR A7 H24 30 4 | R24.12.31 | FEZE |mmsveaok| H24.01.01 | H25.01.01 | %%
Al 5| 2| 0] 2 [FEAH-OR A7 H25 30 42 | R25.12.31 | FEZE |mmsreaok| H25.01.01 | H26.01.01 | %%
Al 5| 2| 0] 2 [FEA R A7 H26 30 4 | R26.12.31 | FEZE |mmsrexok| H26.01.01 | H27.01.01 | %%
Al 5[ 2]0]| 2 FEMU LR A7 H27 30 4E | R27.12.31 | JEEE |smsreixob| H27.01.01 | H28.01.01 | %
Al5]2]0]| 2 [FEIU R A7 T8 128 30 45 | R28.12.31 | BEHE |mmxvexok| H28.01.01 | H29.01.01 | #&
Al5]2]0]| 2 [FEIU R A7 T8 H29 30 4 | R29.12.31 | BEHE |sm=+vexok| H29.01.01 | H30.01.01 | #&
Al5]2]0]| 2 [FEIU R A7 T8 H30 30 4 | R30.12.31 | BEHE |sm=+vexok| H30.01.01 | H31.01.01 [ #&
Al5]2]0]| 2 [FEIU R A7 T8 RO1 30 4 | R31.12.31 | BEHE |sm=+exok| H31.01.01 | R02.01.01 | #&
Al 5(2]0]| 2 [FEMU R A7 R02 30 4F | R32.12.31 | JEZHE |smsreixob| R02.01.01 | R03.01.01 | %
Al5|2]0] 2 [FEUW IR AFiE R04 30 48 | R34.12.31 | BEHE |mmx+rior| R04.01.01 | R05.01.01 | #%
Al5|2]0] 2 [FEUW IR AFiE R0O5 30 4 | R35.12.31 | BEHE |mm=veiob| R05.01.01 | R06.01.01 [ #%
Al5|2]0] 3 |FEU I PRIE H12 30 4 | R13.12.31 | BEHE |momsresob H14.01.01 [ &%
Al5|2]0] 3 |FEU I PRIE H14 30 4E | R14.12.31 | JBEHE |mmsveiob H15.01.01 | &
Al 5| 2]0] 3 |FEU - PRIE H15 30 4 | R15.12.31 | BEHE |pomsresob H16.01.01 [ &%
Al 5| 2| 0] 3[R B H16 30 4F | R16.12.31 | BEEE | iob H17.01.01 | #&%
Al 5| 2| 0] 3[R B H17 30 4F | R17.12.31 | BEEE |t iob H18.01.01 | #&%
Al 5| 2| 0] 3 [FEHL (A BRI H19 30 4 | R19.12.31 | BEIE |Hfi%vesoh H20.01.01 | #&
Al 5| 2]0] 3 |FEU I P& H21 30 4 | R21.12.31 | BEZE |tk H22.01.01 |  #&%
Al 5| 2]0] 3 |FEU I PRIE H22 30 4 | R22.12.31 | FEEE %ol H23.01.01 | &
Al5| 2|03 FERU (- B H23 30 4F | R23.12.31 | BEZE [miaeiok H24.01.01 | #&

24 /43 ~—=¥




SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al5]2]0] 3 |FEIU 1 BRE H24 30 4 | R24.12.31 | BEIHE |smx+vexob| H24.01.01 [ H25.01.01 [ &
Al5|2]0] 3 |FEIL 1 BRE H25 30 4= | R25.12.31 | BEIHE |mmx+vexob| H25.01.01 [ H26.01.01 [ &
Al5|2]0] 3 |FEIL 1 BRE H26 30 4 | R26.12.31 | BEIHE |smx+vexob| H26.01.01 [ H27.01.01 [ &
Al5]|2]0] 3 |FEIL 1 BRE R04 30 4 | R34.12.31 | BEHE |smx+vexob| R04.01.01 [ R05.01.01 [ &
Al5]2]0] 3 |FEIL 1 BRE R0O5 30 4= | R35.12.31 | BEHE |sm=+exob| R05.01.01 [ R06.01.01 [ &
A5 2|04 [FERU IS S ke H12 30 4F | R13.12.31 | BEHE [miirr ol H14.01.01 | #&
Al 5| 2| 0] 4 [FEI (2 Sk H15 30 4 | R15.12.31 | BEHE |momsresob H16.01.01 [ &%
Al 5| 2| 0] 4 [FEI 2 Sk H16 30 4 | R16.12.31 | BEHE |pomsreob H17.01.01 [ &%
Al 5| 2| 0] 4 [FEI (2 Sk H17 30 42 | R17.12.31 | BEEE |mmsrisob H18.01.01 [ &
Al 5| 2| 0] 4 [FEI {2 Sk H18 30 4 | R18.12.31 | BEHE |momsreob H19.01.01 [ &%
Al 5| 2| 0] 4 [FEI 2 Sk H19 30 4 | R19.12.31 | BEHE |pomsreob H20.01.01 [ &%
Al 5| 2| 0] 4 [FEIU 15 Sk H20 30 4= | R20.12.31 | BEHE |pomsre ok H21.01.01 [ &%
Al5(2]0] 4 [FEAU 5 R & H21 30 4E | R21.12.31 | BEHE |mmsveiob H22.01.01 | %%
Al 5| 2| 0] 4 [FEIU 15 Sk H22 30 4 | R22.12.31 | BEHE |misrisob H23.01.01 [ &%
Al 5| 2| 0] 4 [FEIU 15 Sk H23 30 4 | R23.12.31 | BEHE |momsreob H24.01.01 [ &%
Al 5| 2| 0] 4 [FEIU 15 Sk H24 30 4 | R24.12.31 | BEFE |mmsveiob| H24.01.01 | H25.01.01 [ #%
Al 5| 2| 0] 4 [FEIU 15 Sk H25 30 4F | R25.12.31 | BEHE |mmvexob| H25.01.01 | H26.01.01 | #%
Al 5| 2| 0] 4 [FEIU 15 Sk H26 30 4F | R26.12.31 | BEHE |mmvexob| H26.01.01 | H27.01.01 |  #K
Al 5| 2| 0] 4 [FEIU 15 Sk H27 30 4F | R27.12.31 | BEHE |mmvexob| H27.01.01 | H28.01.01 | #%
Al 5| 2| 0] 4 [FEIU 15 Sk H28 30 4F | R28.12.31 | BEHE |mmvexob| H28.01.01 | H29.01.01 | #K
Al 5| 2| 0] 4 [FEMU 15 Sk i H29 30 4F | R29.12.31 | BEZE |smvrxor| H29.01.01 | H30.01.01 |  #&
Al 5| 2| 0] 4 [FESU 15 Sk H30 30 4E | R30.12.31 | EE=E |smxvrxok| H30.01.01 | H31.01.01 | %%
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<y 77 AN, B\ prmmpy | LS e | 7200 | RS RILD
Al 5| 2| 0] 4 |FEIL (5 Sk RO1 30 4 | R31.12.31 | BEHE |sm=+vexob| H31.01.01 [ R02.01.01 [ &
Al 5| 2| 0] 4 [GEIA (5 Sk R0O2 30 4 | R32.12.31 | BEIHE |smx+exob| R02.01.01 [ R03.01.01 [ &
A5 2] 0|4 |GEIL RS kR RO3 30 4= | R33.12.31 | BEHE |smx+vexob| R03.01.01 [ R04.01.01 [ &
Al 5| 2| 0] 4 [FEILA (5 Sk RO4 30 4 | R34.12.31 | BEHE |smx+vexob| R04.01.01 [ R05.01.01 [ &
Al 5| 2| 0] 4 |FEIL (5 Sk R05 30 4= | R35.12.31 | BEHE |sm=+exob| R05.01.01 [ R06.01.01 [ &
Al 5| 2| 0] 5 [FEHL 1 H e H12 30 4 | R13.12.31 | BEHE |momsreob H14.01.01 [ &%
A|5(2]0]| 5 [FEHU: H AR H14 30 4E | R14.12.31 | JBEHE |smsveioh H15.01.01 | &
Al 5| 2| 0] 5 [FESLA (- s H15 30 4 | R15.12.31 | BEIE |pomsresob H16.01.01 [ &%
Al 5| 2| 0] 5 [FESLA (- H s H16 30 4 | R16.12.31 | BEHE |pomsresob H17.01.01 [ &%
A|5(2]0]| 5 [FEHU AR H17 30 4E | R17.12.31 | JEEHE |mmsveiob H18.01.01 | &
Al 5| 2| 0] 5 [FESLA (- s HI18 30 4 | R18.12.31 | BEHE |momsreob H19.01.01 [ &%
Al 5| 2]0]| 5 [FERU - Ak H19 30 4 | R19.12.31 | BEHE |pomsresob H20.01.01 [ &%
Al 5| 2]0]| 5 [FERU - Ak H21 30 4 | R21.12.31 | BEHE |momsresob H22.01.01 [ &%
Al 5| 2| 0] 5 [FESMA - H A H22 30 4E | R22.12.31 | JEHE |mmsveiob H23.01.01 | &
Al 5| 2]0]| 5 [FERU - Ak H23 30 4 | R23.12.31 | BEHE |momsreob H24.01.01 [ &%
Al 5| 2| 0] 5 [FESMA - H A H24 30 4E | R24.12.31 | JEZHE |smsveiob| H24.01.01 | H25.01.01 | %
Al 5| 2| 0] 5 [FESA - H A H25 30 4 | R25.12.31 | BEZE |smveiob| H25.01.01 [ H26.01.01 [ #%
Al 5| 2| 0] 5 [FESA - H A H26 30 4 | R26.12.31 | BEZE |smsveiob| H26.01.01 [ H27.01.01 [ #%
Al 5| 2| 0] 5 [FESA - H A H27 30 4 | R27.12.31 | BEZE |smsveiob| H27.01.01 [ H28.01.01 [ #%
Al 5| 2| 0] 5 [FESA - H A H28 30 4 | R28.12.31 | BEZE |smveiob| H28.01.01 [ H29.01.01 [ #%
Al 5| 2| 0] 5 [FEMA - H A H29 30 4F | R29.12.31 | BEZE |smvrxor| H29.01.01 | H30.01.01 |  #&
Al 5| 2]0]| 5 [FERU Lk H30 30 4E | R30.12.31 | EE=E |smxvrxok| H30.01.01 | H31.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al 5[ 20| 5 [FEH I HE R RO1 30 4 | R31.12.31 | JE=ZE |smsrexob| H31.01.01 | R02.01.01 | %
Al 5| 2| 0] 5 [GEHLA (s R0O2 30 4% | R32.12.31 | BEFE |smsrexok R0O2.01.01 | R0O3.01.01 | %
Al 5] 2] 0|5 |GEIL 1 H AR & RO3 30 4% | R33.12.31 | BEFE |smsrexok R0O3.01.01 | R0O4.01.01 | &
Al 5| 2| 0] 5 [GEHLA (- s RO4 30 4% | R34.12.31 | BEFE |smsrexok R04.01.01 | R05.01.01 | %
Al 5| 2| 0] 5 [GEHLA (- s R05 30 4% | R35.12.31 | BEFE |smsrexok R05.01.01 | R06.01.01 | %
Al5]2|0] 6 |[HERRFHEMSEFEIHE 126 10 45 | R6.12.31 | BEFE [msmxvesor| H26.01.01 | H27.01.01 | #%
Al5]2]0] 6 [HAREREFHEBSEEPHE H27 10 45 | R7.12.31 | BEFE [msmxveaor| H27.01.01 | H28.01.01 |  #&
Al5]2|0] 6 |[HERRFHEMSEFEIHE 128 10 45 | R8.12.31 | BEFE [msmxveaor| H28.01.01 | H29.01.01 | #&
Al5]2|0] 6 |[HERRFHEMSEFEIHE H29 10 45 | R9.12.31 | BEFE [msmxveaor| H29.01.01 | H30.01.01 |  #%
Al5]2]0] 6 [HAREREFHEBSEEPHE H30 10 45 [ R10.12.31 | BEFE [mssmxvesor| H30.01.01 | H31.01.01 | #&
Al5]2]0] 6 [HAREREFHEBSEEHE RO1 10 45 | R11.12.31 | BEFE [msmxvesor| H31.01.01 | R02.01.01 | #&
Al5]2]0] 6 [HAREREHEBSEEPHE R02 10 45 | R12.12.31 | BEHE [msmx+esok| R02.01.01 | R03.01.01 |  #&
Al5]2|0] 6 |[HERREHEMSEEHE RO4 10 45 | R14.12.31 | BEHE [memx+esok| R04.01.01 | R05.01.01 |  #&
Al5]2]0] 6 [HAREREHEBSEEPHE R0O5 10 45 | R15.12.31 | BEHE [msmx+esok| R05.01.01 | R06.01.01 |  #&
Al5|2]0]| 7 (HEAERERFHEBSERIE 126 10 45 | R6.12.31 | BEHE [mmmx+esor| H26.01.01 | H27.01.01 |  #&
Al5|2]0]| 7 (HEAERERFHEBSERIE H27 10 45 | R7.12.31 | BEHE [msmxvesor| H27.01.01 | H28.01.01 |  #&
Al5[2(0|7 (HARMRFERSEI M- H28 10 45 | R8.12.31 | BEZE |[mem=vreaor| H28.01.01 [ H29.01.01 | &
Al5[2(0|7 (HARMRFERSEI M- H29 10 45 | R9.12.31 | BEZE |[msmsveror| H29.01.01 [ H30.01.01 [ &
Al5[2(0|7 (HARRFER S EIE M- H30 10 4% | R10.12.31 | BEZE [msemsvexor [ H30.01.01 [ H31.01.01 [ A&
Al5[2(0]|7 (AR AT IE IR I RO1 10 4F | R11.12.31 | BE#E |semsvrexor| H31.01.01 | R02.01.01 | #%
Al5[2(0|7 (HARRFEMSERM RO2 10 45 | R12.12.31 | BEHE [mmmx+csor| R02.01.01 | R03.01.01 |  #&
A5 2| 0| 7 |HERSRFHERSER RO3 10 4E | R13.12.31 | BEZE |[sem=+eaor| RO3.01.01 [ RO4.01.01 | %%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al5)2|0] 7 [H#ERMRFHERSERIE RO4 10 45 | R14.12.31 | BE3E [memxvexor| R04.01.01 | R05.01.01 | #%
Al5) 2|07 [HERMRFERSERIE RO5 10 4F | R15.12.31 | BE3E [memxvexor| R05.01.01 | R06.01.01 | #%
Al5| 2|08 |EEEFEI IR RO3 3| R6.12.31 | BEZE [wm*rexob| R03.01.01 | R04.01.01 | #&
Al 5| 2| 0] 8 |EHEEFIIE ARG RO4 3| R7.12.31 | BEZE [wm*rexob| R04.01.01 | R05.01.01 | #%
Al 5] 2| 0] 8 |EHEEFIIE ARG R05 3 4F | R08.12.31 | BEFE |mmr+exvk| R05.01.01 [ R06.01.01 | %
Al5[ 20|09 |EEEF IR H RO4 34| R7.12.31 | BEFE |mfsvexor| R04.01.01 | R05.01.01 [ #%
Al5]2]0]9 [EBEFE MRS R05 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #E
Al5(2] 1] 3 (AR SEEHE H26 10 4 | R6.12.31 | BEHE [mswmsvesor| H26.01.01 | H27.01.01 | #&
Al 5| 2| 1] 3|[ATFHES T H27 10 45 | R7.12.31 | BEFE [msmxveaor| H27.01.01 | H28.01.01 |  #&
Al 5| 2| 1] 3|[AiTFHESEEHE H28 10 45 | R8.12.31 | BEHE [msmsrexor| H28.01.01 [ H29.01.01 | #&
Al 5| 2| 1] 3|[AiTF S EE H29 10 45 | R9.12.31 | BE3E [msmsrexor| H29.01.01 [ H30.01.01 | #&
Al 5| 2| 1] 3|[AiTF S EEHE H30 10 45 [ R10.12.31 | BEHE [memx+esor| H30.01.01 | H31.01.01 | #&
Al 5| 2| 1] 3|[AiTF S EEHE RO1 10 45 | R11.12.31 | BEHE [msmx+esor| H31.01.01 | R02.01.01 | #&
Al 5| 2| 1] 3|[AiTF S EEHE R0O2 10 45 | R12.12.31 | BEHE [memx+esor| R02.01.01 | R03.01.01 |  #&
Al5| 2| 1| 3 |miFH T PR RO3 10 45 | R13.12.31 | BEHE [msmx+esok| R03.01.01 | R04.01.01 |  #&
Al 5| 2| 1] 3 [AiTF S EEHE RO4 10 45 | R14.12.31 | BEHE [memx+esor| R04.01.01 | R05.01.01 |  #&
Al5[ 2] 1] 3 [RIFHFSEEHE R05 10 4 | R15.12.31 | BEHE [mmm+eior| R05.01.01 | R06.01.01 | #%
Al5[ 2] 1] 4IRS ERAE H26 10 4£ | R6.12.31 | BEHE [memerexor| H26.01.01 | H27.01.01 |  #%
Al5[ 2] 1] 4IRS ERAE H27 10 4£ | R7.12.31 | BE#E [memerexor| H27.01.01 | H28.01.01 |  #E
Al5[ 2] 1] 4IRS ERAE H28 10 4£ | R8.12.31 | BEHE [memevexor| H28.01.01 [ H29.01.01 |  #E
Al5| 2] 1|4 (RTRHRSET H29 10 45 | R9.12.31 | BEFE [mmmxvesor| H29.01.01 | H30.01.01 |  #%
Al5| 2] 1|4 (ATRHRSEF I H30 10 4E | R10.12.31 | BEZE |[msm=reaor| 1H30.01.01 [ H31.01.01 | %
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eI 5> TrANA B\ prmmpy | LS e | 7200 | RS RILD
Al5[ 2] 1] 4IRS ERAE RO1 10 4E | R11.12.31 | BEZE [msmsveior| H31.01.01 | R02.01.01 | #%
Al5[ 2] 1] 4 [aTRHRSERAE R02 10 4E | R12.12.31 | BEZE [msmsveior| R02.01.01 | R03.01.01 | #&
Al 2] 1|4 |FTFHREEI#E RO3 10 4E | R13.12.31 | BEZE [msm=veior| R03.01.01 | R04.01.01 | #E
Al 5| 2| 1] 4 [ATFRESERIE R04 10 4F | R14.12.31 | B3 [msmsrexok| R04.01.01 [ R0O5.01.01 | #E
Al5[ 2] 1] 4IRS ERAE R05 10 4E | R15.12.31 | BEZE [msm=veior| R05.01.01 | R06.01.01 | #E
Al5(2] 1|5 LiERSEEHE H26 10 45 | R6.12.31 | BEHE [msmsrexor| H26.01.01 [ H27.01.01 | #&
Al5|2|1]5|H Lt Pl H27 10 45 | R7.12.31 | B3 [msmsrexok| H27.01.01 [ H28.01.01 | #&
Al5(2] 1|5 LiERSEEHE H28 10 45 | R8.12.31 | BE3HE [msmsrexor| H28.01.01 [ H29.01.01 | #&
Al5[ 2|15 |5 LiRd iR A H29 10 4F | R9.12.31 | BEHE |ssmsvesor| H29.01.01 | H30.01.01 [ #%
Al5|2|1]5|H LRt e e H30 10 45 [ R10.12.31 | BEFE [mssmxvesor| H30.01.01 | H31.01.01 | #&
Al5|2|1]5|H LRt e e RO1 10 45 | R11.12.31 | BEFE [msmxvesor| H31.01.01 | R02.01.01 | #&
Al5|2|1]5|H LRfiRes BEEE R0O2 10 45 | R12.12.31 | BEHE [msmx+esok| R02.01.01 | R03.01.01 |  #&
Al5| 2| 1|5 | AR EEHE RO3 10 45 | R13.12.31 | BEHE [msmx+esok| R03.01.01 | R04.01.01 |  #&
Al5|2|1]5|H LRfkiRas BEEE RO4 10 45 | R14.12.31 | BEHE [msmx+esok| R04.01.01 | R05.01.01 |  #&
Al5|2|1]5|H LRtkiRas BE e R0O5 10 45 | R15.12.31 | BEHE [msmx+esok| R05.01.01 | R06.01.01 |  #&
Al5|2|1|6 |5 it R H26 10 4F | R6.12.31 | PEHE |msmsvesor| H26.01.01 | H27.01.01 [ #%
Al5|2|1]|6|H it ERGE H27 10 45 | R7.12.31 | BE3E |memsrexor| H27.01.01 | H28.01.01 A%
Al5|2|1]|6|H it ERGE H28 10 45 | R8.12.31 | BE3E |memsrexor| H28.01.01 | H29.01.01 A%
Als|2]1]6|H AR EREE H29 10 4F | R9.12.31 | BEHE |ssm=vrexor| H29.01.01 | H30.01.01 | #%
Als|2] 1|6 EERSERIE H30 10 4% | R10.12.31 | BEZE [msemsvexor [ H30.01.01 [ H31.01.01 [ A&
Al5| 2| 1|6 EREMESERE RO1 10 45 | R11.12.31 | BE3E [mswmsrexor| H31.01.01 [ RO2.01.01 | #&
Al5| 2| 1]6|H LRt RO2 10 4E | R12.12.31 | BEZE |[sem=+reaor| R02.01.01 [ RO3.01.01 | %%
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eI 5> TrANA B\ prmmpy | LS e | 7200 | RS RILD
Al5|2] 1] 6|5 LFERSERILE RO3 10 4E | R13.12.31 | BEHE |smm=rewor| R03.01.01 | R04.01.01 | %
Al5[ 21|65 Lild e ER RO4 10 4E | R14.12.31 | BEFE |ssm=rewor| R04.01.01 | R05.01.01 | %
Al5[ 21|65 Lt e ER RO5 10 4E | R15.12.31 | BEHE |smm=rewor| R05.01.01 | R06.01.01 | %
Al5[2| 1|7 [RIARE H26 10 46 | R6.12.31 | BEFE |smmerewor| H26.01.01 | H27.01.01 | %%
Al5[2| 1|7 [RIARE H27 10 46 | R7.12.31 | BEHE |ssmerewor| H27.01.01 | H28.01.01 | %
Alb| 2| 1|7 [EIAR H28 10 4 | R8.12.31 | BEFE [mswmsvesor| H28.01.01 | H29.01.01 | #&
Alb| 2| 1|7 [EIAR H29 10 4 | R9.12.31 | BEFE [mswmsvesor| H29.01.01 | H30.01.01 | #&
Als| 2| 1] 7|EIARE H30 10 45 | R10.12.31 | BEFE [memxvesor| H30.01.01 | H31.01.01 | #%
Al5| 2] 1|7 |RIAR RO1 10 45 | R11.12.31 | B3 [msmsrexor| H31.01.01 [ RO2.01.01 | #&
Als| 2| 1] 7|EIARE R0O2 10 45 | R12.12.31 | BEFE [msmx+csor| R02.01.01 | R03.01.01 |  #&
Al5| 2] 1| 7|FIAR RO3 10 45 | R13.12.31 | BEHE [msmx+esor| R03.01.01 | R04.01.01 |  #&
Als| 2| 1] 7|EIARE RO4 10 45 | R14.12.31 | BEHE [memx+esor| R04.01.01 | R05.01.01 |  #&
Al5| 2] 1|7 |BIAR R05 10 4F | R15.12.31 | BE3E [msmsrexok| R05.01.01 [ R06.01.01 | #&
Al5(2]4]1 8- SREFLEE PRE R04 54 | R9.12.31 | BEZE [mm*rexob| R04.01.01 | R05.01.01 | #E&
Al5|2[4] 2|8 - SREFCER TN RO4 54E | R9.12.31 | BEHE |smsrveiob| R04.01.01 | R05.01.01 | %
Al 5| 2[4] 3|8 - SREFCER SR R04 54 | R9.12.31 | FE%E [mivrsob| R04.01.01 | R05.01.01 | #%
Al5|2]4|1 [Bk%E - ShlbiFeekE PiE RO5 54 | R10.12.31 | BEZE |mmx+exob| R05.01.01 | R06.01.01 | #%
A5 2|42 [8kE - SRimFeek i E RO5 54 | R10.12.31 | FE%E [moms+resob| R05.01.01 | R06.01.01 | #%
Al5| 2] 4|3 |8k SRmiFeek R E R05 54 | R10.12.31 | FEZE |mix+exor| R05.01.01 | R06.01.01 | %
Al5]5[0] 1 [EEREEHER LIRS H15 30 4F | R15.12.31 | BEEE |t iob H16.01.01 | &%
Al5]5|0] 1 [BEREEHER LR E H16 30 4F | R16.12.31 | BEZEE | iob H17.01.01 |  #&%
A[5[5[0|1 [ EHER LT fE H18 30 4F | R18.12.31 | BEZE [mmveiok H19.01.01 | #&
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
A5 5|0 1 [BERREEHER LR H22 30 4F | R22.12.31 | BEEFE |msrvriob H23.01.01 | #&
Al5(5]0] 2 |[EEEitE #E) & H29 30 4F | R29.12.31 | BEZE |smsrexob| H29.01.01 | H30.01.01 | %
Al5(5]0] 2 |[EEEitE #E) & H30 30 4F | R30.12.31 | BEZFE |smsvexob| H30.01.01 | H31.01.01 | %
Al5(5]0] 2 |[EEEitE #E) & RO1 30 4F | R31.12.31 | BEZE |smsvexob| H31.01.01 | R02.01.01 | %
Al5(5]0] 2 |[EEEitE #E) & R0O2 30 4F | R32.12.31 | BEZE |sms+rxob| R02.01.01 | RO3.01.01 | %
Al5]|5]|0]| 2 |8EEEEE (1) & RO3 30 4 | R33.12.31 | FE=E [mmx+rsor| RO3.01.01 | R04.01.01 | %%
Al5]5]0] 2 |#EEIEREE (%) #% R04 30 4 | R34.12.31 | BEHE |smx+exok| R04.01.01 | R05.01.01 | #&
Al5[5] 1] 1 [EEEVRERBR L OVFEARBALRE BRI | H29 |wwwmierese 5 45 [ R4.12.31 | FEIE |misrexoh| H29.01.01 N
Al5[5] 1] 1 [EEEVARERBEAR & OVFEARBALRE BRI | H30 |wewmeress 5 4 [ R5.12.31 | BEIE |misrexoh| H30.01.01 N
A5 5| 1] 1 [EEEVRRMA N OUFABIR R E & BRE | ROL |wemmierene 5 4F [ R6.12.31 | BEIFE [mMxvexoh| H31.01.01 N
Al5[5] 1] 1 [EEEVARERBR L OVFEARBALRE F R | RO2 |wwwmeress 5 4% [ R7.12.31 | BEIE |sisrexoh| R02.01.01 N
Al5[5] 1] 1 |EEEVRUREEAR L OFEABA R E EHE | RO3 |wemmeress 5 45 | R8.12.31 | FEHE [WMxvexvi| R03.01.01 S
Al5[5] 1] 1 [Exx0BUEBE MR L OVFEARBAARRE S PRIE | RO4 |rewmerers 5 4F | R9.12.31 | BEZE |mms+reixok| R04.01.01 | R05.01.01 | %
A[5[5[ 1|1 [EFEEVREREAR R QR A AR S PR | RO5 54 [ R10.12.31 | BEHE |mfsvexor| R05.01.01 | R06.01.01 [ #%
A5 (5[ 1|2[EFEERARR AR M QR AT A e 78 6 RO1 54| R6.12.31 | BEZE [mmsvexob| H31.01.01 [ R02.01.01 | &
Al5]5] 1|2 [FEEVREREZLAR K& OB A e 78 78 R0O2 54 | R7.12.31 | BEZEE |smsveixor| R02.01.01 | R0O3.01.01 [ #%
Al 5|5 1] 2 |FEEVRUHRER K QR AR R & RO3 54| R8.12.31 | BEFE [wisreiok[ R03.01.01 [ RO4.01.01 [ &
Al5]5] 1|2 |[FEEVREREZLA K& OV ARSI fERE RO4 54 | R9.12.31 | BEZE [mmsrexor| R04.01.01 | R05.01.01 | #E&
Al5]5] 1|2 |[FEEVREREZLEA K& OV ARSI RE RO5 54 | R10.12.31 | BEZE [misveiok[ R05.01.01 [ R06.01.01 [ &
Al 5|5 1] 3 [EEEVHREZEAFI N E H29 |wemmieriene 5 45 | R4.12.31 | BEHE |mmresok| H29.01.01 K
Al 5| 5| 1] 3 |Exxnmimm kR s H30 [wwmmierune 5 4 | R5.12.31 | BEHE [mmxvexob| H30.01.01 IS
Al5]5] 1|3 [EFEXVIEHEZEAF I RO1 [wemmierens 5 4E [ R6.12.31 | BEHE |mmxvexob| H31.01.01 Tt
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al5]5] 1|3 [EXXVIEHRE BRI RO2 |wwwmwerers 5 4E | R7.12.31 | BEZE |Kmrveior| R02.01.01 e
Al5]5 3 [FrE SRR AT RO3 [wemmierers 5 4E | R8.12.31 | FEHE |mms+exob| R03.01.01 e
A5 [5|1|3 [EEXDRIHRREAF A RO4 |wwmmserers 5 45 | RO.12.31 | BEZFE |mm*vrexok| R04.01.01 | R05.01.01 | &
Al5]5 3 [ SRR LA ) RO5 [|wmmmersrs 5 4F | R10.12.31 | BEZE |moms+exob| R05.01.01 | R06.01.01 |  #%
Al5[5| 1|4 [FEgE7 7V itk H29 [wwmmierene 5 4E | R4.12.31 | BEZE |mmsvrxob| H29.01.01 %
Al5]5 4 |JE i 7 7 A v FE gk H30 |wmmierins 5 45 | R5.12.31 | BEZE |mmressk| H30.01.01 &
Al5]5 4 |G 7 7 A L Lk RO1 [wesmerers 5 4 [ R6.12.31 | BEZHE |mmx+rxoh| H31.01.01 i
Al5]5 4 R EHG 7 7 A L Lk RO2 [wwmmirers 54 [ R7.12.31 | BEZHE [mix+eixoh| R02.01.01 i
Al5]5 4 |JE i 7 7 A v FE Gk RO3 [wwmmirers 5 4E [ R8.12.31 | BEHE [mix+eixvh| R03.01.01 &
Al5([5 4 |57 7 A L ek g RO4 |wemmierers 5 4E | R9.12.31 | BEHE [mMx~rxvt| R04.01.01 | R0O5.01.01 | #%
A5 5] 1|4 BB 70 06w RO5 |wwmmiriens 5 4F [ R10.12.31 | BE#E [mirrexor| R05.01.01 | R06.01.01 | #%
Al5]5 5 | JEAIEE A 2 N 4 R02 54 | R7.12.31 | BFEZEE |mxvexor| R02.01.01 | R03.01.01 | %
Al5]5 5 | AL A 7 2 PN R RO3 54 | R8.12.31 | FE%E |[msvrxob| R03.01.01 | R04.01.01 | #%
Al5]5 5 | JEAIEE A 7 2 N 4 R04 54 | R9.12.31 | BEZE |mx+vexor| R04.01.01 | R05.01.01 | %
Al5]5 5 | AL A 7 2 PN R R0O5 54 | R10.12.31 | FE%E |moisvesob| R05.01.01 | R06.01.01 | #%
Al5]5 6 | AL 7 S S e H RO1 54 | R6.12.31 | FEZE [mmsrexor| H31.01.01 | R02.01.01 | #E
Al5(5 6 [JRALEAR TS A4 R02 54F | R7.12.31 | BE#E |mwsveiok| R02.01.01 | R03.01.01 | %
Al5]5 6 [JRALEAR TS A4 RO3 54F | R8.12.31 | BE#E |mwrvriok| R03.01.01 | R04.01.01 | %
Al5(5 6 [JEALEAR T S A4 R04 54F | R9.12.31 | BE#EE |mwsvriok| R04.01.01 | R05.01.01 | %
Al5]5 6 [JEABEAR T &R R0O5 54 | R10.12.31 | BEZE [misveiok[ R05.01.01 [ R06.01.01 [ &
Al5]5 7 [FIE R Rk B RO1 54 | R6.12.31 | FEZE [mmsrexor| H31.01.01 | R02.01.01 | #&
Al5| 5] 1|7 [FIHE{ERRE BRE R0O2 54| R7.12.31 | BEZFE [wmsrexsk[ R02.01.01 [ R03.01.01 [ &K
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al5| 5| 1|7 |HIEERE B RO3 54 | R8.12.31 | BEHE [mm=sreiob| R03.01.01 | R04.01.01 | #K
Al 5| 5| 1|7 [EIE{ERE B R04 54 | R9.12.31 | BEZE [mm=sreiob| R04.01.01 | R05.01.01 | #K
A5 | 5] 1|7 [FIE{ERRE BRE R0O5 54 | R10.12.31 | BEHE [mm=rexob| R05.01.01 | R06.01.01 | #&
Al 5|5 1] 9|FEMEMZERE BREERE RO5 1 4 | R06.12.31 | BEIE |mMxvexok[ R05.01.01 | R06.01.01 |  #&%
A[5]5] 3|1 (Al A (BERAL TR HIE 5 ) 188 %0 Htk R04 345 | R7.12.31 | BEZE |mmsveion| R04.01.01 | R05.01.01 | %
A5 [5[3|1 (st R (BEDRAL IR HIHR ) 18 50 R R0O5 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #&
Al5]5] 4] 1 [BGFEEROEA (1) F (F8) f& RO4 10 48 | R14.12.31 | FEZE [misvexob| R04.01.01 | R05.01.01 | #%
AB (5|41 [BEGEEREEAT (%) F (22) & R0O5 10 48 | R15.12.31 | JFEZE [msvexob| R05.01.01 | R06.01.01 | #%
Al 6]0]0] 2 |73mIE T il RS BAR R RO1 54 | R6.12.31 | BEZE [msvexob| H31.01.01 [ R02.01.01 | &
Al 6[0]0]2|52iHIE L FHi L LR BILRR R02 5 4E | R7.12.31 | BEHE |swsrreiob| R02.01.01 [ R03.01.01 | %
Al 6]0]0] 2 |RIMA L ik 258 2 PR % R0O3 54 | R8.12.31 | BEZE |mmsvexob| R03.01.01 | R0O4.01.01 | &
A[6[0|0]|2[zmAE T FH 2B HBILRIE R04 54| R9.12.31 | BEZE |mmsvexob| R04.01.01 | R05.01.01 | &
A[6[0|0]|2[zmAE T FH 2B HBILRIE R05 54 | R10.12.31 | BEZE [msvexok| R05.01.01 [ R06.01.01 | &
Al 6]0] 0|5 |2m%aEE) B R RO3 34E | R6.12.31 | BEHE s+ iob| R03.01.01 | R04.01.01 | %
Al 6]0[0] 5 |z Ze A ESE) BARE RO4 34E | R7.12.31 | BEHE |ssrveiob| R04.01.01 | R05.01.01 | %
Al 6]0[0] 5 |z Ze A ESE) BARE R05 34E | R8.12.31 | BEHE |smsr+riub| R05.01.01 | R06.01.01 | %
Al6]0] 0|9 |2 mFEEH G EH RO3 34| R6.12.31 | BEFE [mms+rxok| R03.01.01 [ R04.01.01 | &
Al6[0|0]|9|zzimisistztmR RO4 34 | R7.12.31 | BE#E |mm=vexob| R04.01.01 | R05.01.01 | #&
Al6]0[0]9|zBfEEktFEHR R0O5 34| R8.12.31 | BEFE [mms+rxok| R05.01.01 [ R06.01.01 | &
Al6] 1] 1] 0 [EmudsE(E #% RO1 54| R6.12.31 | BEFE [misveiokf H31.01.01 [ R02.01.01 [ &
A6 1| 1] o0& mmmdtE e R R02 54 | R7.12.31 | FEZE |mmsvesob| R02.01.01 | R03.01.01 | #%
Al 6| 1| 1|0 |&EmmEE R % RO3 54 | R8.12.31 | BEZE |mms+txvh| R03.01.01 | R04.01.01 [ %
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eI 5> TrANA B\ prmmpy | LS e | 7200 | RS RILD
A6 1| 1] 0| mmdEdE) R RO4 54| R9.12.31 | FEHE [mmsrexob| R04.01.01 | R05.01.01 | #&
A6 1| 1] 0| mmdE (e R R05 54 | R10.12.31 | FEZE |mm=+exob| R05.01.01 | R06.01.01 | #&
AL6[1[1[1 [REEEATA % RO1 54 | R6.12.31 | BEZE [mm=sveiob| H31.01.01 | R0O2.01.01 |  #K
A6 1] 1|1 [REEEAS 4 ik R0O2 54 | R7.12.31 | BEZE [mm=+exok| R02.01.01 | RO3.01.01 | %%
Al6| 1| 1] 1 |EEEA4 R RO3 54 | R8.12.31 | BEZE [mm=+txok| R03.01.01 | R04.01.01 | %%
A6 1| 1|1 [JREEEAT4 % RO4 54E | R9.12.31 | BEHE |swrvrioh| R04.01.01 | R05.01.01 | %
A6 1| 1|1 [JREEEAS 4 R05 5 4F | R10.12.31 | BEZE s+ xok| R05.01.01 | R06.01.01 | %
A6 1|12 (BIrFEEgEdm S = (P8) % R05 1 48 | R06.12.31 | BEZE [smrvriok| R05.01.01 | R06.01.01 | %
Al6[ 1] 1]6 2 (REDIR) &% RO1 54F | R6.12.31 | BEZE |mwsrvrexok| H31.01.01 | R02.01.01 | %
Al6|1]1]6[HEZEGEERDI) & R02 54 | R7.12.31 | BFEZE [mmsrexor| R02.01.01 | R03.01.01 | #E
Al 6] 1] 1|6 |HEZE GREBEIRT) #% RO3 54 | R8.12.31 | BEZE [mm=rexor| R03.01.01 | R04.01.01 | #E
Al 6] 1| 1] 6|2 (REGIFT) 8 R04 54 | R9.12.31 | BEZE |[mmsveiok| R04.01.01 | R05.01.01 | &
Al6| 1] 1]6[HEZEGREDIR) # R05 54 | R10.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #E
Al 6] 1| 2] 0 |z m S 2R g R04 54| R9.12.31 | BEZFE |mix+txvr| R04.01.01 | R05.01.01 [ %
Al 6] 1| 2] 0 |z m S 2R g R05 5 4F | R10.12.31 | BEZE |mms+exok| R05.01.01 | R06.01.01 | &
Al6| 1| 2] 1 [z mER I RO4 54 | R9.12.31 | BEZE [mm=rexor| R04.01.01 | R05.01.01 | #E
Al6] 1] 2] 1 [siEmiEFE PR RO5 54 [ R10.12.31 | BEHE |msrexor| R05.01.01 | R06.01.01 [ #%
Al 6] 1| 2] 3 [UfFsftE () # RO1 54| R6.12.31 | BEZE [mmsrexok| H31.01.01 [ R02.01.01 | %%
Al 6] 1| 2] 3 [UnfFsftE (#E) # R0O2 54| R7.12.31 | BEZE [mm=rexok| R02.01.01 | RO3.01.01 | #&%
Al 6] 1| 2|3 |E07FEfFE (1) # RO3 54 | R8.12.31 | FEZE [mmsrexor| R03.01.01 | R04.01.01 | #&
A6 1] 2|3 [UfFesfr= (#2) 8 RO4 54 | R9.12.31 | BEZE [mm*rexor| R04.01.01 | R05.01.01 | #Et
Al 6] 1| 2] 3 |UnfFsftE () # RO5 54 | R10.12.31 | BEZE |mm=+exok| R05.01.01 | R06.01.01 | #&%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al6]2[0] 1 [zdEmERFE CS@UILT) H23 30 4 | R23.12.31 | BFEEE |mmsviiob H24.01.01 | %
Al6]2]0]| 1 (zZudiEmE S (B EBIRF) H24 30 4E | R24.12.31 | pBeZE |mmxsrson]| H24.01.01 | H25.01.01 | #%
Al6]2]0]| 1 (zoudiEmE K F - (2 EBIRF) H25 30 4£ | R25.12.31 | peZE |mmxsrson]| H25.01.01 | H26.01.01 |  #%
Al6]2]0]| 1 (zoudiEmE S (2 mEBIRF) H26 30 4E | R26.12.31 | peZE |mmx+rxon]| H26.01.01 | H27.01.01 |  #%
Al6]2]0]| 1 (zoudiEmE G- (B mBIRF) H27 30 £ | R27.12.31 | pEZE |mmxsrxon]| H27.01.01 | H28.01.01 |  #%
Al6]2]0]| 1 (zeudiEmE - (@ BIRF) H28 30 4 | R28.12.31 | BEHE |mmxvexok| H28.01.01 | H29.01.01 | #&
Al6]2]0]| 1 (zeudiEmE K F# (2@ UIRF) H29 30 4 | R29.12.31 | BEHE |mm=+vexok| H29.01.01 | H30.01.01 | #&
Al6]2]0]| 1 (zediEmE K F-#E (B @A) H30 30 4 | R30.12.31 | BEHE |sm=+vexok| H30.01.01 | H31.01.01 [ #&
Al6]2]0]| 1 (zeudiEmE - (B @A) RO1 30 4 | R31.12.31 | BEHE |sm=+exok| H31.01.01 | R02.01.01 | #&
Al6]2]0]| 1 (zeudiEmE - (@A) R0O2 30 4 | R32.12.31 | BEZE |mmx~vtiob| R02.01.01 | R03.01.01 [ %
Al 6| 2|0] 1|28 IEmELCFE (@ bIRT) RO3 30 4 | R33.12.31 | BEHE |sm=+exok| R03.01.01 | R04.01.01 | #&
Al6[2]0] 1 |22imiEDE R F 1 (M) RO4 30 48 | R34.12.31 | &= |smsrrxok| R04.01.01 | R05.01.01 | %
Al6[2]0] 1 |22iEiEmE K F 1 (A mURT) R05 30 48 | R35.12.31 | &= |smsrrxok| R05.01.01 | R06.01.01 | %
Al6]2]0] 6 |80 R ek RO1 54 | R6.12.31 | BFEZE [mmsrexor| H31.01.01 | R02.01.01 | #E
Al 6] 2|0] 6 |18 B Rr sk i R02 54| R7.12.31 | BEZFE |mix+rxor| R02.01.01 | R03.01.01 [ %
Al 6|2[0] 6|38 E R ek RO3 54 | R8.12.31 | FEZE [mm=rexor| R03.01.01 | R04.01.01 | #E
Al 6]2|0] 6 |18 B Rr sk RO4 5 4E | R9.12.31 | BEHE s+ iob| R04.01.01 | R05.01.01 | %
Al6]2]0]|6 |80 R Re ki R0O5 5 4F | R10.12.31 | FgsE |[mmerexob| R05.01.01 | R06.01.01 A
Al6]2]0] 7 [#iFHemE S RO1 54| R6.12.31 | BEFE [misveiokf H31.01.01 [ R02.01.01 [ &
Al6]2]0] 7 [iFHemE S R0O2 54 | R7.12.31 | FEZE |misvesob| R02.01.01 | R03.01.01 | #%
Al 62|07 |l E% RO3 54 | R8.12.31 | FEZE [mmsrexor| R03.01.01 | R04.01.01 | #&
Al6]2]0]| 7 [iFHemE S RO4 54| R9.12.31 | BEZE |mm=+exok| R04.01.01 | RO5.01.01 | %%
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<) TrANK B\ prmmpy | LS e | 7200 | RS RILD
Al 6| 2|07 [l s E RO5 5 4F | R10.12.31 | BEZE |sms+rxok| R05.01.01 | R06.01.01 | %
Al 6] 2|0] 8 [l BRI RO1 54 | R6.12.31 | FEHE [mmsvexob| H31.01.01 | R02.01.01 | #%
Al 6] 2|0] 8 [l BRI R0O2 54 | R7.12.31 | BEHE [mm=vexob| R02.01.01 | R03.01.01 | #%
Al 6] 2]0]| 8|l s ki & RO3 54 | R8.12.31 | FEHE [mm=vexob| R03.01.01 | R04.01.01 | #%
Al 6] 2|0] 8 [l BRI R04 54 | R9.12.31 | FEHE [mm=vexob| R04.01.01 | R05.01.01 | #%
Al 6] 2|0] 8 [l BRI R0O5 54 | R10.12.31 | BFEZE [mm=rexor| R05.01.01 | R06.01.01 | #E
Al6]2] 1|0 [JLIRgIFZ B - FadH - AL (S BIER) H04 30 4 | R13.12.31 | BEEE |mmsrisiob H14.01.01 [ &%
Al6]2] 1|0 [ALIRgIFZ B - FadH - AL (SR BILR) HO5 30 ££ | R13.12.31 | BEIE [momx~rion H14.01.01 [ &%
Al6]2] 1|0 [JLIRgEIFZ B - FadH - AL (SR BIER) HO06 30 £ | R13.12.31 | BEIE |[momx~rion H14.01.01 [ &%
Al6]2] 1|0 [ALIRgIFZ B - FadH - AL (SR BIER) HO7 30 4 | R13.12.31 | BEFE |mmsrisob H14.01.01 [ &%
Al6]2] 1|0 [ALIRgEIFZ B - FadH - AL (SR BILR) HO8 30 £ | R13.12.31 | BEIE [momx~rion H14.01.01 [ &%
Al 62| 1]0AL3RFM B - 54 - L PR (P H BALR) H09 30 £ | R13.12.31 | BEEE [monx~iioh H14.01.01 [ &%
Al 62| 1]0[JLIRF B - o4 - L PRI (P BALR) H10 30 4 | R13.12.31 | BEHE |misrisob H14.01.01 [ #%
Al 62| 1]0[JLIRF B - o4 - L PRI (P BALR) H11 30 4 | R13.12.31 | BEHE |misrisob H14.01.01 | %
Al 62| 1]0[JLIRF B - o4 - L PRI (P BALR) H12 30 4 | R13.12.31 | BEHE |misrisob H14.01.01 | %
Al 62| 1]0[JLIRF B - o4 - L PRI (P BALR) H13 30 4 | R13.12.31 | BEHE |misrisob H14.01.01 | %
Al6]2] 1|0 [ALIRZEIFZ B - FadH - AL (G BILR) H14 30 4 | R14.12.31 | BEZE | ik H15.01.01 | #&%
A6 2|10 (LIR30 - FEHE - AP i (i BAMR) H15 30 4 | R15.12.31 | BEZE [mivesiok H16.01.01 | %
A6 2|10 (LIR30 - FEE - AP i (i BALR) H16 30 4 | R16.12.31 | BEZE [mivreiok H17.01.01 | %
A6 2|10 [FEIRTFsz B - a1 - AP i (i BALR) H17 30 4 | R17.12.31 | BEZE [mivesiok H18.01.01 | %
Al6]2] 1|0 [AEIREIFZ B - FadH - AL (G BILR) H18 30 4 | RI18.12.31 | BEZE |k H19.01.01 [ &%
Al6]2] 1|0 [ALIRFEIFZ B - FofH - AL (G BILR) H19 30 4F | R19.12.31 | BEHE |sffrve ot H20.01.01 [ &%

37/ 43 ==Y




<y 77 AN, B\ prmmpy | LS e | 7200 | RS RILD
Al6]2] 1|0 [ALIRgEIFZ B - FadH - AL (S i BIER) H20 30 4E | R20.12.31 | BEFE [momserion H21.01.01 [ #%
Al6]2] 1|0 (ALIRgPF2 B - FadH - AL (S BIER) H21 30 4E | R21.12.31 | BEFE [momserion H22.01.01 [ #%
Al6]2] 1|0 [ALIRgEIFZ B - FadH - AL (S BIER) H22 30 4F | R22.12.31 | BEFE [momserion H23.01.01 [ #%
Al6]2] 1|0 [JLIRgEIFZ B - FadH - AL (S BIER) H23 30 4F | R23.12.31 | BEFE [momserion H24.01.01 [ #%
Al6]2 0 [T gEF=2 B - Fade - AL (S BIER) H24 30 4F | R24.12.31 | BEHE |mmsveiob| H24.01.01 | H25.01.01 [ #%
Al6]2 0 [FLIRF =2 BE - PR 4 - AL (Sl BALR) H25 30 4 | R25.12.31 | BEFE |mms~vieiob| H25.01.01 [ H26.01.01 [ #%
Al6]2 0 [FLIRF =2 BE - PR 4 - AL (Sl BALR) H26 30 42 | R26.12.31 | BEFE |mmsveiob| H26.01.01 | H27.01.01 [ #%
Al6]2 0 [T F 2 B - Fadi - AL (S BILR) H27 30 42 | R27.12.31 | BEZE |mms~vieiob| H27.01.01 [ H28.01.01 [ %
Al6]2 0 [FLIRF =2 BE - PR 4 - AL (St BALR) H28 30 42 | R28.12.31 | BEFE |mmx~vitiob| H28.01.01 [ H29.01.01 [ %
Al6]2 0 [FLIRF =2 BE - FiR 4 - AL (St BALR) H29 30 42 | R29.12.31 | BEZE |mms~iiob| H29.01.01 [ H30.01.01 [ %
Al6]2 0 [FLIRF =2 BE - PR 4 - AL (St BALR) H30 30 48 [ R30.12.31 | BEHE |momx+rior| H30.01.01 | H31.01.01 | #%
Al6]2 0 (LIRS B - FE 4 - AL B (S BER) RO1 30 48 | R31.12.31 | BEHE |momx+rxor| H31.01.01 | R02.01.01 |  #%
Al6]2 0 (LIRS B - fE 4 - AL ERE (S BIER) R0O2 30 48 | R32.12.31 | BEHE [mmx+rior| R02.01.01 | R03.01.01 | #%
Al6]2 0 (LIRS B - FE 4 - AL FRE (S BER) RO3 30 48 | R33.12.31 | BEHE [mmx+rixor| R03.01.01 | R04.01.01 |  #%
Al6]2 0 (LIRS B - FE 4 - AL B (S BER) R04 30 48 | R34.12.31 | BEHE |mmx+rior| R04.01.01 | R05.01.01 |  #%
Al6]2 0 (LIRS B - FE 4 - AL B (S BER) R0O5 30 48 [ R35.12.31 | BEHE [mmx+rior| R05.01.01 | R06.01.01 |  #%
Al6|2 1| A2 18 S LR H04 30 42 | R13.12.31 | FEEE %ol H14.01.01 | #%&
Al6|2 1| A2 18 S LR HO09 30 42 | R13.12.31 | FEEE %ol H14.01.01 | #%&
Al6|2 1| A2 18 S ML R T H10 30 42 | R13.12.31 | BEEE %ol H14.01.01 | #%&
Al6|2 1| A2 18 S ML R T H11 30 42 | R13.12.31 | BEEE %ol H14.01.01 | #%&
Al6|2 1 | A2 S H AR AR PR H12 30 4£ | R13.12.31 | FEEE %t soh H14.01.01 | #%&
Al6|2 1 | A2 18 S AR I 2 H13 30 4 | R13.12.31 | BEFE |%re sk H14.01.01 | %%
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<) TrANK B\ prmmpy | LS e | 7200 | RS RILD
Al6]2 AR 10 AL LR 2R H14 30 4E | R14.12.31 | BEZE |misrexob H15.01.01 | %
Al6]2 AR 10 AL LR 2R H15 30 4E | R15.12.31 | BEZE |misrexob H16.01.01 | %
Al6]2 AR F L BRI 2 H16 30 4E | R16.12.31 | BEZE |pisrexob H17.01.01 | %
Al6]2 AR F L BRI 2 H17 30 4E | R17.12.31 | BEZE |misrexob H18.01.01 | %
Al6]2 22 10 AL LR 2R H18 30 4F | R18.12.31 | BEZE |misrexob H19.01.01 | %
Al6|2 A0 F L BRI 2 H19 30 4F | R19.12.31 | JBEFE |mmsrre o H20.01.01 | #&
Al6|2 A0 F L BRI 2 H20 30 4F | R20.12.31 | BEFE |mmsrre o H21.01.01 | #&
Al6]2 QLR TG UBE RIS H21 30 £E | R21.12.31 | BEIE [momx~rion H22.01.01 [ &%
Al6]2 LR LG UBE RIS H22 30 4 | R22.12.31 | BEHE |pomsreob H23.01.01 [ &%
Al6|2 A0 F L BRI 2 H23 30 4F | R23.12.31 | BEFE |mmsrreiob H24.01.01 | #&
Al6]2 LR LG UBE RIS H24 30 4£ | R24.12.31 | BEFE |momx+rixor| H24.01.01 | H25.01.01 |  #%
Al6|2 WSEIE AL UBit NI H25 30 4E | R25.12.31 | JEZHE |smsveiob| H25.01.01 | H26.01.01 | %
Al6|2 WSEIE AL UBit NI H26 30 4E | R26.12.31 | JEZHE |smsveiob| H26.01.01 | H27.01.01 | %
Al6|2 WSEIE AL UBit NI H27 30 4E | R27.12.31 | JEZHE |smsvriob| H27.01.01 | H28.01.01 | %
Al6|2 WSEIE AL UBit NI H28 30 4F | R28.12.31 | JEZHE |smsvexob| H28.01.01 | H29.01.01 | %
Al6]2 LI LU RINITE S H29 30 4 | R29.12.31 | BEHE |mmx+vexok| H29.01.01 | H30.01.01 | #&
Al6]2 A0 F L BRI 2R H30 30 4E | R30.12.31 | FEZE |mmxvexon| H30.01.01 | H31.01.01 | %%
Al6(2 A0 AL BRI R RO1 30 4 | R31.12.31 | BEZE |m*veiob| H31.01.01 [ R02.01.01 [ #%
Al6]2 WSEIE AL UBiN NIy R02 30 4F | R32.12.31 | BEHE |mms+riob| R02.01.01 | R03.01.01 |  #%
Al6|2 A0 F L BRI 2R RO3 30 4E | R33.12.31 | FEFE |mmx+exor| R03.01.01 | R04.01.01 | %%
Al6]2 QLR LG UBE RINITE S R04 30 4F | R34.12.31 | BgZE |smxvrxor| R04.01.01 | R05.01.01 | #%
Al6]2 a2 P R0O5 1 4F | R06.12.31 | BEHE s+ xob| R05.01.01 | R06.01.01 |  #%
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<y 77 AN, B\ prmmpy | LS e | 7200 | RS RILD
Al62|2|6[REIRAESM; R 126 10 4 | R6.12.31 | BEFE [wmxrexob| H26.01.01 | H27.01.01 | #%
Al62|2|6[REIRAESFM R H27 10 4 | R7.12.31 | BEZE [wmxrexob| H27.01.01 | H28.01.01 |  #%
Al6|2|2|6 [ REIRAEFM R H28 10 4 | R8.12.31 | BEFE [wmxrexob| H28.01.01 | H29.01.01 | #%
Al62|2|6[REIRAESM; R H29 10 4 | R9.12.31 | BEFE [wmxrexob| H29.01.01 | H30.01.01 |  #%
Al6|2|2|6 [ REIRAEFM R H30 10 45 [ R10.12.31 | BEHE [mmrexob| H30.01.01 | H31.01.01 |  #%
Al6(2|2|6 [ REIRAHEF;—ER RO1 10 48 | R11.12.31 | BEZE [mosvexob| H31.01.01 | R02.01.01 |  #%
Al6(2|2|6 [ REIRAHEF;—ER R02 10 48 | R12.12.31 | FEZE [msvexob| R02.01.01 | R03.01.01 | #%
Al6]2]2]6 | RMIARLIFIF—FE RO3 10 48 | R13.12.31 | FEZE [misvexob| R03.01.01 | R04.01.01 | #%
Al6(2|2|6 [ REIRAHEF;—ER RO4 10 48 | R14.12.31 | FEZE [misvexob| R04.01.01 | R05.01.01 | #%
Al6|2|2|6 [ REIRAHEF;—ER RO5 10 48 | R15.12.31 | FEZE [misvexob| R05.01.01 | R06.01.01 |  #%
Al 62| 2] 7[OZRITFMEHLE RO4 10 48 | R14.12.31 | BE#E [mmx~rxor| R04.01.01 | R0O5.01.01 | #%
Al 6| 2| 2] 7[OERITFEMHFEHE RO5 10 4£ | R15.12.31 | BEZE |msrexoh| R05.01.01 [ R06.01.01 [ #%
Al6]2]| 2|8 NEHHBRE R04 54| R9.12.31 | BEZFE |mix+txvr| R04.01.01 | R05.01.01 [ %
Al6|2|2]8 | ANEFHEZ R RO5 54E | R10.12.31 | BEZE [mmer+rixob| R05.01.01 | R06.01.01 [  #E
Al6]3]0] 1 [FAEKEBIRE R04 34 | R7.12.31 | BFEZE [mmsrexor| R04.01.01 | R05.01.01 | #E
Al6]3]0] 1 [FAEKEBIRE R0O5 3 4 | R08.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #&
Al6[3]0]4|RiBLEREEE R05 1 4 | R06.12.31 | FgZE |mmx+exor| R05.01.01 | R06.01.01 | %%
Al6l4|o] 1 [ForL8xr—FA—2— Lkt RO1 54| R6.12.31 | BEFE [misreiok H31.01.01 [ RO2.01.01 [ &
Al6l4|0f 1 [FoarAe—RA—2—fiticekk RO2 54E | R7.12.31 | BEZFE |mx+txor| R02.01.01 | R03.01.01 | %
Al6l4|0] 1|72V KA —R A—F— Sk RO3 54 | R8.12.31 | FEZEE |mixvexor| R03.01.01 | R04.01.01 | %%
Al6l4|o| 1 [FoarAe—RA—2—fificekk R04 54| R9.12.31 | BEZFE |mx+txvh| R04.01.01 | R05.01.01 [ %
Al6]4]0] 1[N RAE—FA—F— HaindRse RO5 54 | R10.12.31 | BEZE |mm=+exok| R05.01.01 | R06.01.01 | #&%
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
Al 6] 4]0 4 (52 HAT T & d b i ATR R E R RO4 54 | R9.12.31 | BEZE |mm=+exok| R04.01.01 | RO5.01.01 | %%
Al 6]4]0]| 5 [ERiEHEE S A% RO5 1 45 [ R06.12.31 | BEZE |smx+rxoh| R05.01.01 | R06.01.01 |  #%
A[6]4]0] 6 [FiEMRE#E R (R & R05 1 4 | R06.12.31 | BEIE [mMx+exok[ R05.01.01 | R06.01.01 |  #&%
Al6]4]0]| 772 RERFE B E 2B RO4 54 | R9.12.31 | BEZE [mm=srciob| R04.01.01 | R05.01.01 | #K
Al6]4]0]| 772 ek E 2B RO5 54 | R10.12.31 | BEHE [mm=rexob| R05.01.01 | R06.01.01 | #&
Al 65|01 |Fhkkk- S5 1k BIEREE R0O3 34 | R6.12.31 | BEZE |mmsvexor| R03.01.01 | RO4.01.01 | #%
Al 65|01 |5k =z GFhl 11 BILRA% RO4 34| R7.12.31 | BEZE [mmsveiok| R04.01.01 | R05.01.01 | &
Al 6]5[0] 1 |5k =Gl 11 BILRA% R0O5 3 4F | R08.12.31 | BEFE [mmsrrxoi| R05.01.01 | R06.01.01 |  #%
Al 65|02 |FBB) LM R RO3 34 | R6.12.31 | BFEZE [mm=rexor| R03.01.01 | R04.01.01 | #E
A[6]5]0]| 2 [FHl bt SRk R04 34 | R7.12.31 | BEFE [mmsrrsob| R04.01.01 | R05.01.01 |  #%
A[6]5]0]| 2 [FHl Bt R R05 3 4F | R08.12.31 | BEFE [mmsvrxoi| R05.01.01 | R06.01.01 | #%
Al 90|01 |BEL AR RO3 | 5EfEH 34| R6.12.31 | BEZFE [wmsvexsb| R03.01.01 [ R0O4.01.01 | #%
A[9[0[01 [Ease P RO4 | ZEME#% 3 4F | R7.12.31 | BEZFE |Wirveiob| R04.01.01 [ R05.01.01 |
A[9[0[01 [Ease P RO5 | ZE#i#% 3 4F | R8.12.31 | BEZFE [Wirveob| R05.01.01 [ R05.01.01 | K
Al 8| 1| 1] 3|82 i 52t 4 RO3 34| R6.12.31 | BFEFE |mix+vtxor| R03.01.01 | R04.01.01 | %
Al 8] 1| 1|3 B 2n I h & R04 34| R7.12.31 | BEZFE |mix+txor| R04.01.01 | R05.01.01 [ %
Al 8| 1] 1|3 |Band 3 R05 34 | R08.12.31 | = |mms+exok| R05.01.01 | R06.01.01 | %
A8 1| 1|4 BRA s SRS e RO5 1 4% | R06.12.31 | BEFE [mirvrexok[ R0O5.01.01 [ R06.01.01 | %
®[1[6|0|1|FEumtTdHmBILREL RO4 10 4F | R14.12.31 | FE%E [mivesob| R04.01.01 | R05.01.01 |  #%
®[ 16|01 |Fa0E1T = BILRFE R0O5 10 4F | R15.12.31 | BEHE [mrexob| R05.01.01 | R06.01.01 |  #%
®[1]6]0|2|[FEEfrEa i RO4 10 4F | R14.12.31 | BEZE [mwm=+exuk[ R04.01.01 [ R05.01.01 [ &%
®[1]6]|0] 2 |EEpEEHE R05 10 4F | R15.12.31 | FEZE |mfms+exob| R05.01.01 | R06.01.01 [  #E
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SR 53 T AN B\ prmmpy | LS e | 7200 | RS RILD
T 1| 0] 1| 2 |BReE S OVl {22 A R0O5 1 45 [ R06.12.31 | BEZE |smx+rxoh| R05.01.01 | R06.01.01 |  #%
T 1| 1|05 |HELE B B HUHLE & L RO1 545 | R6.12.31 | BEZE [mmsvexor| H31.01.01 | R02.01.01 | #&
T 1| 1|05 |HEE B B HHLE & L R02 54E | R7.12.31 | BEZE |mms+exor| R02.01.01 | R03.01.01 | #&
T| 1| 1|05 [HEER B Bk & F AL B RO3 545 | RS.12.31 | Bg#E [mms+exor| R03.01.01 | R04.01.01 | #%
T L[ 1|05 |HE g B &) B LB RO4 54 | R9.12.31 | BEZE [mm=+txok| R04.01.01 [ RO5.01.01 | %%
T 1| 1|05 |HEER B &) B P RO5 5 4 | R10.12.31 | FE%E |[ms+rxob| R05.01.01 | R06.01.01 | #%
T 1|07 E dsE A2 G 2 R05 3 4 | R08.12.31 | BEZE [mm=rexor| R05.01.01 | R06.01.01 | #E
T|I1|1]0]|8|fmad i ds R0O5 3 4 | R08.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #E
TIL[ 1| 1] 4|EEA—E2EH Rk E RO1 54 | R6.12.31 | BEFE [smsrrxob| H31.01.01 | R02.01.01 |  #%
T 1| 1| 1| 4 |EEA—EAES AR E R0O2 54 | R7.12.31 | BgsE |mm=rexor| R0O2.01.01 | R03.01.01 [ #E
T 1| 1| 1|4|EEA—EREH RMEE RO3 54 | R8.12.31 | BEZE [mm=rexor| R03.01.01 | R04.01.01 | #E
T L] L] 4|EEA— AE D S RO4 54 | R9.12.31 | BEZE [mmervexob| R04.01.01 | R05.01.01 [ #E
T 1] 1| 4|EEA—ERAEH SHE R0O5 54 | R10.12.31 | BEZE [mm=+exor| R05.01.01 | R06.01.01 | #E
T|1[2]|0] 3| FhLTHkE R0O5 14 | R06.12.31 | BEZE |mmx+cxok| R05.01.01 | R06.01.01 | %%
T| 13| 0] 1|ZRimF i E R ZE % RO3 34 | R6.12.31 | FEZE [mmsrexor| R03.01.01 | R04.01.01 | #E
T1]3]|0[ 1|2 HGH TR EE R RO4 34E | R7.12.31 | BEHE |ssrvriob| R04.01.01 | R05.01.01 | %
T|1]3]0] 1 |2EFHkEaH R EER RO5 34 | ROS.12.31 | BEHE |mmx+eixob| R05.01.01 | R06.01.01 | #%
T{1]|4]|0]|2|2Z@HHMRIEFFRAR RO1 54 | R6.12.31 | BEEE |mmsveiok| H31.01.01 | R02.01.01 | %
T{1]|4]|0]|2|2Zd@HHRIEFFRAZR R02 54F | R7.12.31 | BEZE |morrexok| R02.01.01 | R03.01.01 | %%
T|1|4]|0]2|@mBHIRIER AR RO3 54 | R8.12.31 | BEZFE |mixrvrexok| R03.01.01 [ R0O4.01.01 | A&
T 1| 4]0]|2|2ZdHLHPR IS A RO4 54F | R9.12.31 | BEZE |mwerveiok| R04.01.01 | R05.01.01 | %
T 1| 4]0 2|2 mH PR b A 2 R05 54 | R10.12.31 | BEZE |mms+txor| R05.01.01 | R06.01.01 | %
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eI 5> TrANA B\ prmmpy | LS e | 7200 | RS RILD
T{1]4|0]8|EREEKE H25 30 4% | R25.12.31 | BEFE |smsrexob| H25.01.01 | H26.01.01 | %
T{1]4|0]8|EREEE H26 30 4 | R26.12.31 | BEFE |smsrexok H26.01.01 | H27.01.01 | %
T{1]4|0]8|EREEE H27 30 4 | R27.12.31 | BEFE |smsrexob| H27.01.01 | H28.01.01 | %
T|1]4]0]8|ERBaE H28 30 4E | R28.12.31 | FgzE |mmrvrson| H28.01.01 | H29.01.01 | %%
T{1]4|0]8|EREEE H29 30 4 | R29.12.31 | BEFE |smsrexok H29.01.01 | H30.01.01 | %
TI1]4]0[8|E ALK H30 30 4 | R30.12.31 | BEHE |sm=+vexok| H30.01.01 | H31.01.01 [ #&
TI1]4]0[8|E A RO1 30 4 | R31.12.31 | BE#E |sm=+exok| H31.01.01 | R02.01.01 | #&
TI1]4]0[8|E ALK R02 30 4 | R32.12.31 | BEZE |mmsrexok| R02.01.01 | R03.01.01 | #%&
T|1[4]|0]8|ERESHE RO3 30 4 | R33.12.31 | BEHE |mmx+exok| R03.01.01 | R04.01.01 | &
T | 1] 4] of 8| & LI RO4 30 4F | R34.12.31 | BEZE |mmrexok| R04.01.01 | R05.01.01 | #%&
TI1]4]0[8|E A R05 30 4 | R35.12.31 | BEHE |sm=+txok| R05.01.01 | R06.01.01 | #&
FI3]1[0]6|MaihRiismiss R05 1 4 | R06.12.31 | BgZE |smx+exor| R05.01.01 | R06.01.01 | #%
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